
Parti di ricambio   -   Spare parts   -   Pieces detachees   -   Ersatzteilekatalog 

MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

Code Description Page Rev. Date

5.8A MINIMAX
WMCK-01 ASSIEMI 2 00 09/2015
WMCK-02 DETTAGLI 4 00 09/2015

5.8 INSTANT
WMCK-03 ASSIEMI 7 00 09/2015
WMCK-04 DETTAGLI 9 00 09/2015

6.4A
WMCK-05 ASSIEMI 11 00 09/2015
WMCK-06 DETTAGLI 1 13 00 09/2015
WMCK-07 DETTAGLI 2 16 00 09/2015

6.4A SILENZIO
WMCK-08 ASSIEMI 19 00 09/2015
WMCK-09 DETTAGLI 1 21 00 09/2015
WMCK-10 DETTAGLI 2 24 00 09/2015

6.8A KONIK
WMCK-11 ASSIEMI 27 00 09/2015
WMCK-12 DETTAGLI 1 30 00 09/2015
WMCK-13 DETTAGLI 2 33 00 09/2015

6.4 INSTANT
WMCK-14 ASSIEMI 36 00 09/2015
WMCK-15 DETTAGLI 1 38 00 09/2015
WMCK-16 DETTAGLI 2 40 00 09/2015

8.0 INSTANT
WMCK-17 ASSIEMI 42 00 09/2015
WMCK-18 DETTAGLI 1 44 00 09/2015
WMCK-19 DETTAGLI 2 46 00 09/2015

6.8 KONIK INSTANT
WMCK-20 ASSIEMI 48 00 09/2015
WMCK-21 DETTAGLI 1 50 00 09/2015
WMCK-22 DETTAGLI 2 52 00 09/2015



WMCK-01

- 2 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

5.8A MINIMAX

8

1

2

3

4

5

6

7

9

12

13

15

14

10

11

16

17

25

192021

2223

24

26

27

28

29

34
35

CH

UK

30

31

32
33

AUST

CEE 

36 USA

18

rev. 00
09/2015ASSIEMI



WMCK-01

- 3 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

5.8A MINIMAX

ASSIEMI
rev. 00
09/2015

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
1 WY28360078 VITE PIEDINO K06324 MAC.ASC FOOT SCREW VIS DE PIED SCHRAUBE FUSS

2 WY28360077 PIEDINO GOMMA K06323 MAC.ASC RUBBER FOOT PIEDS EN CAOUTCHOUC GUMMIFUSS

3 WY28360076 PROFILO PIEDINO K03822 MAC.ASC FOOT PROFILE PROFIL DE JAMBE BEIN PROFIL

4 WY28286030 VITE TT85Z M4x8 K02078 SCREW VIS SCHRAUBE

5 WY28286008 RONDELLA K082 MAC.ASC WASHER RONDELLE HAHNSCHEIBE

6 WY28400015 VASCHETTA RECUP.CAFFE' K02051 COFFEE GROUNDS TROUGH RAMASSEUR CAFE SCHUSSEL ANSAMMLUNG KAFFEE

7 WY28286027 VITE TT85T 5x12 K01132 SCREW VIS SCHRAUBE

8 WY28126011 FORCELLA CORTA K815 MAC.ASC COFFEE GRINDER FORK K815 FOURCHETTE x MOULIN K815 GABEL x KAFFEEMUHLE K815

9 WY28286031 VITE TT65T M5x12 K02079 SCREW VIS SCHRAUBE

10 WY28286043 INTERRUTTORE K2013 SWITCH INTERRUPTEUR SCHALTER

11 WY28286045 GOMMINO USCITA CAFFE' K02082 COFFEE OUTLET RUBBER CAOUTCHOUC DE SORTIE CAFE KAFFEE STECKDOSE GUMMI

12 WY28360079 LENTE K3 K02052 MAC.ASC LENS LENTILLE OBJEKTIV

13 WY28286025 VITE TT85Z 5x12 K01080 SCREW VIS SCHRAUBE

14 WY28002012 ANELLO CROM.x DOS.K6 K221 MAC.ASC CHROME RING FOR K6 DOSER K221 BAGUE CROME K221 CHROM RING K221

15 WY28360049 COPERCHIO DOSATORE K02053 DISPENSER COVER COUVERCLE DE DISTRIBUTEUR DECKELSPENDER

16 WY28286174 KIT AUTO-STOP K3 K02732 KIT AUTO-STOP KIT AUTO-STOP KIT AUTO-STOP

17 WY28286026 VITE TT65Z 4x8 K01058 SCREW VIS SCHRAUBE

18 WY28357004 TRAMOGGIA COMPLETA  K02028 FULL HOPPER TREMIE COMPLETE VOLLE TRICHTER

18 WY28357005 TRAMOGGIA 300GR MINIMAX K02286 MAC.ASC HOPPER 30 GR MINI ASC. TREMIE TRICHTER

19 WY28286170 DADO CIECO M8 SX DIN917 K02018 NUT ECROU MUTTER

20 WY28286159 DISTANZIALE PRESSINO (ESSENTIAL) K06606 TAMPER SPACER ENTRETOISE ABSTANDSHALTER DRUCKER

21 WY28326026 VITE BOCCHETTONE USCITA CAFFE' K1194 MAC.A COFFEE DISPENSER SCREW VIS TUYAU DE SORTIE CAFE SCHRAUBE AUSLAUFROHR KAFFEE

22 WY28400019 TUBO LIMITATORE IN NYLON K02314 STOP TUBE ARRETER LE TUBE STOPPEN ROHR

23 WY28286166 VITE TORX TT65T M3x16 DIN965 K01021 SCREW VIS SCHRAUBE

24 WY28286036 ANELLO REGOLAZIONE MACINATURA K02456 RING GRINDING ADJUSTMENT ANNEAU REGLAGE DE LA MOUTURE RINGSCHLEIFENVERS TELLUNG

25 WY28286029 VITE M4x15 DIN 966 K02046 SCREW VIS SCHRAUBE

26 WY28286037 CABLAGGIO ARRESTO AUTOMATICO 220/240V K022 AUTOMATIC SHUTDOWN WIRING CABLAGE ARRET AUTOMATIQUE AUTOMATISCHE ABSCHALTUNG

26 WY28286038 CABLAGGIO ARRESTO AUTOMATICO 100/110V K022 AUTOMATIC SHUTDOWN WIRING CABLAGE ARRET AUTOMATIQUE AUTOMATISCHE ABSCHALTUNG

27 WY28286039 CABLAGGIO INTERRUTTORE 220/240V K02228 SWITCH WIRING CABLAGE DE L'INTERRUPTEUR SCHALTERVERDRAHTUNG

27 WY28286040 CABLAGGIO INTERRUTTORE 100/110V K02228U SWITCH WIRING CABLAGE DE L'INTERRUPTEUR SCHALTERVERDRAHTUNG

28 WY28286041 PRESSACAVO K01292 CABLE GRIP PRESSE CABLE PRESSEKABEL

29 WY28286042 PRESSACAVO K01293 CABLE GRIP PRESSE CABLE PRESSEKABEL

30 WY28286044 PROTEZIONE INFERIORE K02050 LOWER GUARD PROTECTION INFERIEURE UNTERER KETTENSCHUTZ

31 WY28286028 VITE TT85T 5x12 IDT K01131 SCREW VIS SCHRAUBE

32 WY28286048 CAVO ALIMENTAZIONE AUSTRALIA K00369 POWER CABLE AUSTRALIA CABLE D'ALIMENTATION AUSTRALIA STROMKABEL AUSTRALIA

33 WY28286046 CAVO ALIMENTAZIONE EUROPA SGS 220V K01330 POWER CABLE EUROPE CABLAGE D'ALIMENTATION EUROPE STROMKABEL EUROPA

34 WY28286047 CAVO ALIMENTAZIONE SVIZZERA K00424 POWER CABLE SUISSE CABLE D'ALIMENTATION SUISSE STROMKABEL SCHWEIZ

35 WY28286049 CAVO ALIMENTAZIONE UK K00341 POWER CABLE UK CABLE D'ALIMENTATION UK STROMKABEL UK

36 WY28286050 CAVO ALIMENTAZIONE USA K00113 POWER CABLE USA CABLE D'ALIMENTATION USA STROMKABEL USA



- 4 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

WMCK-02 rev. 00
09/2015

5.8A MINIMAX

DETTAGLI

1
2

3

4

5

6

7

8

9 10
11

12
13

14 15

16

1718

19

20
21

22

23

24

25
26

27

28

29

30

31

32

33

34

35
36

39
37

38

40

41 42

28

29

43

44 46

45 47

48

49

50

52

53

54

55

56

51

57

2
2



WMCK-02

- 5 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

rev. 00
09/2015

5.8A MINIMAX

DETTAGLI

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
1 WY28286089 TAMPONE PRESSINO ABS D-57 K01247 ABS TAMPER PAD GARNITURE PRESSE CAFE EN ABS KAFFEEPRESSE

1 WY28360043 TAMPONE PRESSINO D.53 x K6 K01249 MAC.ASC PAD PRESSER PAD PRESSEUR PAD DRUCKER

2 WY28286032 VITE DIN 912 M4x10 TT12 ZINCATA K01095 SCREW VIS SCHRAUBE

3 WY28360026 PLASTICA INF. DOSATORE K504 MAC.ASC LOWER PROTECTION PROTECTION INFERIEUR SCHUTZVORRICHTUNG TIEFER

4 WY28286086 TAMPONE PRESSINO ALLUMINIO D-53 K01164 ALUMINIUM TAMPER PAD GARNITURE PRESSE CAFE EN ALUMINIUM KAFFEEPRESSE

4 WY28360031 TAMPONE INFERIORE PRESSINO ALLUMINIO K0116 LOWER PRESSER PAD INFERIEURE PRESSEUR PAD BODENPOLSTERUNG DRUCKER

5 WY28286066 MOLLA LEVA A SINISTRA K00619 SPRING LEVER RESSORT LEVIER HEBELFEDER

5 WY28360027 MOLLA TORSIONE RITORNO LEVA K618 SPRING TORSION K618 RESSORT TORSION K618 STERN VERWINDUNG K618

6 WY28286025 VITE TT85Z 5x12 K01080 SCREW VIS SCHRAUBE

7 WY28286067 RONDELLA ASSE DOSATORE K00653 DOSER WASHER DOSEUR RONDELLE SCHEIBE

8 WY28196005 LEVA DOSATORE k00829  MAC.ASC LEVER x GRINDER DOSER LEVIER DOSEUR HABEL K.MUHLEDOSIERANLAGE

9 WY28219012 MOLLA PERNO K662 MAC.ASC 03 SPRING PIN RESSORT GOUJON FEDER ZAPFEN

10 WY28360005 PERNO PRESSINO K508 PIN K508 GOUJON K508 ZAPFEN K508

11 WY28360010 PERNO LEVA  K090 MAC.ASC PIVOT LEVER LEVER PIVOTANT SCHWENKHEBEL

12 WY28159306 CRICCHETTO K648 MAC.ASC 03 RATCHE K648 ENGRENAGE K648 SPERRKLINKE K648

13 WY28286081 ADATTATORE DOSATORE K01105 DOSER ADAPTER ADAPTEUR DE DOSEUR AUFGABETRICHTER ADAPTER

14 WY28279003 RONDELLA M26 K01093 MAC. ASC WASHER M26 RONDELLE M26 SCHEIBE M26

15 WY28126003 FERMO IN GOMMA K048 MAC.ASC RUBBER STOPPER BOUCHON DE CAOUTCHOUC GUMMISTOPFEN

16 WY28286080 CORPO DOSATORE SENZA CONTACOLPI K01087 DISPENSER BODY WITH NO COFFEE COUNTER DISTRIBUTEUR DE CORPS AUCUN TRAIT DOSIERGERAT OHNE STRICH

17 WY28360022 GHIERA PRESSINO K505 h=11 RING NUT STAMPER K505 EMBOUT PRESSE-CAFE K505 ZWINGE KAFFEEPRESSE K505

18 WY28022005 BOCCOLA DOSATORE K01091 MAC.ASC BUSHING GRINDER DOSER DOUILLE DOSEUR MOULIN BUCHSE DOSIERANLAGE

19 WY28360001 PRESSINO K506 C.GRINDER COFFEE STAMPER PRESSE-CAFE MOULIN KAFFEEPRESSER MUEHLE K506

20 WY28219013 MOLLA STELLA K01092 MAC.ASC SPRING STAR RESSORT ETOILE FEDER STERN

21 WY28326022 STELLA INTERM.ALLUMINIO DOSATORE K01081 MA COFFEE GRINDER MIDWAY STAR ALUMINIUM ETOILE A MI-CHEMIN MOULIN ALUMINIUM KAFFEEMUHLE STERN AUF HALBEM WEG ALU

22 WY28190001 LAMIERINO TAGLIADOSE K719 DOSING SECTOR FOR COFFEE GRINDER SECTEUR POUR MOULIN DOSEUR SCHEIDEWAND FUR KAFFEEMUHLE

23 WY28286088 RONDELLA IN NYLON PER STELLA IN ALLUMINIO NYLON WASHER NYLON RONDELLE NYLON SCHEIBE

24 WY28326020 STELLA SUP.DOSATORE ALLUMINIO K01082 MAC.A COFFEE GRINDER UPPER STAR ALUMINIUM ETOILE SUPERIEURE MOULIN ALUMINIUM KAFFEEMUHLE STERN ALUMINIUM

25 WY28322001 SEGER REGOLAZIONE DOSATORE K00543 MAC.ASC SNAP RING CONTROL GRINDER DOSER CIRCLIP REGULATEUR DOSEUR SEEGERRING REGULATOR DOSIERANLAGE

26 WY28286108 ASTA DOSATORE K02087 DOSING SHAFT ARBRE DE DOSAGE DOSIERWELLE

27 WY28286014 REGOLAZIONE DOSATORE ALLUMINIO K1096 MAC.A CONTROL GRINDER DOSER ALUMINIUM REGULATEUR DOSEUR MOULIN ALUMINIUM REGULATOR DOSIERANLAGE ALUMINIUM

28 WY28286034 VITE TT85Z DIN 7985 4x10 K02150 SCREW VIS SCHRAUBE

29 WY28217014 MACINE 58D COPPIA K02058 MAC. ASC. GRINDSTONES COUPLE MEULE COUPLE MUHLE PAAR

30 WY28126022 VITE TORX K01021 SCREW VIS SCHRAUBE

31 WY28286123 PORTAMACINE FISSO INFERIORE D-58mm K02725 LOWER GRINDSTONES HOLDER PORTE MEULES INFERIEURES UNTERMUHLEHALTER

32 WY28286023 PORTAMACINE SUPERIORE  K02400 UPPER GRINDSTONES HOLDER PORTE MEULES SUPERIEURE OBERER MUHLEHALTER

33 WY28286075 RONDELLA K01020 WASHER RONDELLE SCHEIBE

34 WY28286122 PORTAMACINE FISSO SUPERIORE D-58mm K02721 UPPER GRINDSTONES HOLDER PORTE MEULES SUPERIEURE OBERER MUHLEHALTER

35 WY28286121 BLOCCO REGOLAZIONE NON MICROMETRICA K02711 NON MICROMETRIC ADJUSTMENT BLOCK BLOC DE REGLAGE NO MICROMETRIQUE DOSER ANPASSUNG BLOCK



WMCK-02

- 6 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

rev. 00
09/2015

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
36 WY28286013 REGOLAZIONE DOSATORE ABS K1094 MAC.ASC CONTROL GRINDER DOSER ABS REGULATEUR DOSEUR MOULIN ABS REGULATOR DOSIERANLAGE ABS

37 WY28286016 VITE BLOCCO REGOLAZIONE MACINATURA  K02312 SCREW BLOCK GRINDING ADJUSTMENT BLOC DE VIS DE REGLAGE DE BROYAGE SCHRAUBENBLOCK SCHLEIFEINSTELLUNG

38 WY28286033 VITE TT12 M4x12 K02083 SCREW VIS SCHRAUBE

39 WY28360070 COLLARE K02064 MAC.ASC COLLAR COLLIER KRAGEN

40 WY28326027 BOCCOLA ASTEC-TYPE M5 K2063 MAC.ASC AXLE BOX DOUILLE BUCHSE

41 WY28286130 VITE BLOCCAGGIO TRAMOGGIA PER GOURMET LINE BLOCKING HOPPER SCREW TREMIE DE VIS DE SERRAGE SPANNEN SCHRAUBE TRICHTER

42 WY28360071 SPINA COLLARE K03168 MAC.ASC PLUG COLLAR BRANCHEZ COLLIER STECKERKRAGEN

43 WY28286120 PORTAMACINE INFERIORE D-58mm K02704 LOWER GRINDSTONES HOLDER D-58mm PORTE MEULES INFERIEURES D-58mm UNTERMUHLEHALTER D-58mm

44 WY28247003 MOTORE 230V 50Hz MINI MAX/INSTANT K02166 MOTOR 230V 50Hz MOTOR 230V 50Hz MOTOR 230V 50Hz

45 WY28247005 CONDENSATORE x K3 ELITE K01295 CAPACITOR CONDENSATEUR KONDENSATOR

46 WY28286109 MOTORE 110V 60Hz K02108 MOTOR 110V MOTEUR 110V MOTOR 110V

47 WY28286112 CONDENSATORE 16mF K3 11OV K02162 CAPACITOR 16mF CONDENSATEUR 16mF KONDENSATOR 16mF

48 WY28357003 COPERCHIO TRAMOGGIA x K3 K02027 HOPPER COVER COUVERCLE TREMIE TRICHTERDECKEL

49 WY28357002 TRAMOGGIA K02028 HOPPER TREMIE TRICHTER

50 WY28326016 SERRANDA TRAMOGGIA K827 MAC.ASC 03 CLOSSING SHEET TOLE DE FERMETURE SCHLUSSBLECH

51 WY28357004 TRAMOGGIA COMPLETA  K02028 FULL HOPPER TREMIE COMPLETE VOLLE TRICHTER

51 WY28357005 TRAMOGGIA 300GR MINIMAX K02286 MAC.ASC HOPPER 30 GR MINI ASC. TREMIE TRICHTER

52 WY28286035 VITE DIN K01284 SCREW VIS SCHRAUBE

53 WY28286071 COPERCHIO SCATOLA ARRESTO AUTOMATICO K0072 AUTOMATIC STOP BOX COVER COUVERCLE DU BOITER DE FERMETURE AU AUTOMATISCHE ABSCHALTUNG KASTENABDECK

54 WY28286103 MICRO AUTO-STOP K3 K01733 MICRO AUTO-STOP MICRO AUTO-STOP MICRO AUTO-STOP

55 WY28286070 SCATOLA ARRESTO AUTOMATICO K00728 AUTOMATIC STOP BOX BOITE DE COUPURE AUTOMATIQUE AUTOMATISCHER ABSCHALTUNG KASTEN

56 WY28286087 ALETTA ARRESTO AUTOMATICO K01235 AUTOMATIC STOP FLIP LANGUETTE D'ARRET AUTOMATIQUE AUTOMATISCHER STOPP-REGISTERKARTE

57 WY28286174 KIT AUTO-STOP K3 K02732 KIT AUTO-STOP KIT AUTO-STOP KIT AUTO-STOP

5.8A MINIMAX

DETTAGLI



- 7 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

WMCK-03 rev. 00
09/2015

5.8 INSTANT

ASSIEMI

16

20

1

14 15

18
19

17

13

1211

10

21

29

9

4

8

7
6

235

36

3

4

5 2

28

27
26

2524

23

22

32
33

CH

UK

30
31

AUST

CEE 

34 USA

1



WMCK-03

- 8 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

rev. 00
09/2015

5.8 INSTANT

ASSIEMI

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
1 WY28286027 VITE TT85T 5x12 K01132 SCREW VIS SCHRAUBE

2 WY28360015 PIEDINO GOMMA BEARING FOOT PIED DE SUPPORT STUTZFUSS

3 WY28286028 VITE TT85T 5x12 IDT K01131 SCREW VIS SCHRAUBE

4 WY28286030 VITE TT85Z M4x8 K02078 SCREW VIS SCHRAUBE

5 WY28286056 RONDELLA K00082 WASHER LAVER UNTERLEGSCHEIBE

6 WY28286044 PROTEZIONE INFERIORE K02050 LOWER GUARD PROTECTION INFERIEURE UNTERER KETTENSCHUTZ

7 WY28286062 RONDELLA K00170 WASHER RONDELLE SCHEIBE

8 WY28286106 INTERRUTTORE MODALITA K02029 SWITCH INTERRUPTEUR SCHALTER

9 WY28286118 TIMER BOARD 110V K02509 TIMER BOARD 110V TIMER BOARD 110V TIMER BOARD 110V

9 WY28360065 TEMPORIZZATORE K02507 MAC.ASC TIMER BOARD MINUTERIE TIMER BORD

10 WY28286036 ANELLO REGOLAZIONE MACINATURA K02456 RING GRINDING ADJUSTMENT ANNEAU REGLAGE DE LA MOUTURE RINGSCHLEIFENVERS TELLUNG

11 WY28286166 VITE TORX TT65T M3x16 DIN965 K01021 SCREW VIS SCHRAUBE

12 WY28400019 TUBO LIMITATORE IN NYLON K02314 STOP TUBE ARRETER LE TUBE STOPPEN ROHR

13 WY28326026 VITE BOCCHETTONE USCITA CAFFE' K1194 MAC.A COFFEE DISPENSER SCREW VIS TUYAU DE SORTIE CAFE SCHRAUBE AUSLAUFROHR KAFFEE

14 WY28286169 RONDELLA ELASTICA D-8 DIN137 K02017 ELASTIC WASHER RONDELLE ELASTIQUE FEDERSCHEIBE

15 WY28286170 DADO CIECO M8 SX DIN917 K02018 NUT ECROU MUTTER

16 WY28357004 TRAMOGGIA COMPLETA  K02028 FULL HOPPER TREMIE COMPLETE VOLLE TRICHTER

16 WY28357005 TRAMOGGIA 300GR MINIMAX K02286 MAC.ASC HOPPER 30 GR MINI ASC. TREMIE TRICHTER

17 WY28286029 VITE M4x15 DIN 966 K02046 SCREW VIS SCHRAUBE

18 WY28286145 VITE SPECIALE M3x8 DIN7985 K05064 SCREW M3X8 VIS M3X8 SCHRAUBE M3X8

19 WY28286115 SUPPORTO ALETTA K02307 FLIP SUPPORT SOUTIEN ALETTA ALETTA ZU UNTERSTUTZEN

20 WY28286019 ALETTA IN PLASTICA MINI INSTANT K02300 PLASTIC TAB LANGUETTE EN PLASTIQUE DANS KUNSTSTOFFLASCHE

21 WY28286143 VITE INOX SVASATA M4x8 K04959 S.STEEL SCREW VIS INOX SCHRAUBE INOX

22 WY28286043 INTERRUTTORE K2013 SWITCH INTERRUPTEUR SCHALTER

23 WY28360066 REGOLATORE TIMER K02461 MAC.ASC TIMER ADJUST MINUTERIE AJUSTER TIMER EINSTELLEN

24 WY28360067 DISTANZIALE TEMPORIZZATORE K01397 MAC.ASC TIMER ADJUST SPACER MINUTERIE AJUSTER ENTRETOISE TIMER EINSTELLEN DISTANZ

25 WY28286116 ADESIVO TIMER K3 K02460 TIMER ADHESIVE ADHESIF TIMER KLEBER TIMER

25 WY28360068 ETICHETTA TEMPORIZZATORE K02459 MAC.ASC TIMER ADJUST LABEL MINUTERIE AJUSTER ETIQUETTE EINSTELLEN TIMER LABEL

26 WY28360069 MANOPOLA TEMPORIZZATORE K02462 MAC.ASC TIMER ADJUST KNOB MINUTERIE BOUTON DE REGLAGE EINSTELLEN TIMER SCHALTER

27 WY28286117 MANOPOLA TIMER K3 K02463P TIMER KNOB POIGNEE TIMER TIMER HANDGRIFF

28 WY28400015 VASCHETTA RECUP.CAFFE' K02051 COFFEE GROUNDS TROUGH RAMASSEUR CAFE SCHUSSEL ANSAMMLUNG KAFFEE

29 WY28286172 KIT FRONTALE K3 TOUCH ADVANCE K02523 KIT FRONT KIT FRONTALE FRONT KIT

30 WY28286048 CAVO ALIMENTAZIONE AUSTRALIA K00369 POWER CABLE AUSTRALIA CABLE D'ALIMENTATION AUSTRALIA STROMKABEL AUSTRALIA

31 WY28286046 CAVO ALIMENTAZIONE EUROPA SGS 220V K01330 POWER CABLE EUROPE CABLAGE D'ALIMENTATION EUROPE STROMKABEL EUROPA

32 WY28286047 CAVO ALIMENTAZIONE SVIZZERA K00424 POWER CABLE SUISSE CABLE D'ALIMENTATION SUISSE STROMKABEL SCHWEIZ

33 WY28286049 CAVO ALIMENTAZIONE UK K00341 POWER CABLE UK CABLE D'ALIMENTATION UK STROMKABEL UK

34 WY28286050 CAVO ALIMENTAZIONE USA K00113 POWER CABLE USA CABLE D'ALIMENTATION USA STROMKABEL USA

35 WY28286041 PRESSACAVO K01292 CABLE GRIP PRESSE CABLE PRESSEKABEL

36 WY28286042 PRESSACAVO K01293 CABLE GRIP PRESSE CABLE PRESSEKABEL



- 9 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

WMCK-04 rev. 00
09/2015

5.8 INSTANT

DETTAGLI

1
2

3

4
5

8

6

9

9

10

11 12

14

13

15

16
17

18

19

20

21

22

23

24
25

23

24

29

26 27

28

31

32

33

30

7



WMCK-04

- 10 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

rev. 00
09/2015

5.8 INSTANT

DETTAGLI

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
1 WY28286111 DADO M2 K02122 NUT M2 ECROU M2 NUT M2

2 WY28286119 MICROINT.K3 TOUCH ADVANCED K02515 MICROSWITCH MICRO-INTERRUPTEUR MIKROSCHALTER

3 WY28286110 VITE M2x12 K02121 SCREW M2X12 VIS M2X12 SCHRAUBE M2X12

4 WY28162011 PLASTICA FRONTALE NERA CON SERIGRAFIA K020 BLACK PLASTIC FRONT FRONTALE EN PLASTIQUE NOIR SCHWARZEN KUNSTSTOFF FRONT

5 WY28286021 MOLLA MINI INSTANT K02301 SPRING RESSORT FEDER

6 WY28286022 CARTER MINI INSTANT K02306 CARTER CARTER CARTER

7 WY28286171 PERNO SUPPORTO FRONTALE USCITA CAFFE K0230 FRONT SUPPORT PIVOT SOUTIEN DE ESSIEU AVANT VORDERACHSTRAGER

8 WY28022008 SCIVOLO USCITA CAFFE' 5.8 MINI ISTANT K023 COMPLETE STOP SPOUT K347 GLISSER CAFE SCHIEBEN SIE KAFFEE

9 WY28360072 FORCELLA K02070 MAC.ASC FORK FOURCHETTE GABEL

10 WY28286033 VITE TT12 M4x12 K02083 SCREW VIS SCHRAUBE

11 WY28286016 VITE BLOCCO REGOLAZIONE MACINATURA  K02312 SCREW BLOCK GRINDING ADJUSTMENT BLOC DE VIS DE REGLAGE DE BROYAGE SCHRAUBENBLOCK SCHLEIFEINSTELLUNG

12 WY28360070 COLLARE K02064 MAC.ASC COLLAR COLLIER KRAGEN

13 WY28326027 BOCCOLA ASTEC-TYPE M5 K2063 MAC.ASC AXLE BOX DOUILLE BUCHSE

14 WY28286130 VITE BLOCCAGGIO TRAMOGGIA PER GOURMET LINE BLOCKING HOPPER SCREW TREMIE DE VIS DE SERRAGE SPANNEN SCHRAUBE TRICHTER

15 WY28360071 SPINA COLLARE K03168 MAC.ASC PLUG COLLAR BRANCHEZ COLLIER STECKERKRAGEN

16 WY28286017 MOLLA BLOCCO REGOLAZIONE MACINATURA  K0231 SPRING BLOCK GRINDING ADJUSTMENT RESSORT POUR L'AJUSTEMENT BLOC DE BROYA FEDERBLOCK SCHLEIFENSTELLUNG

17 WY28286121 BLOCCO REGOLAZIONE NON MICROMETRICA K02711 NON MICROMETRIC ADJUSTMENT BLOCK BLOC DE REGLAGE NO MICROMETRIQUE DOSER ANPASSUNG BLOCK

18 WY28286122 PORTAMACINE FISSO SUPERIORE D-58mm K02721 UPPER GRINDSTONES HOLDER PORTE MEULES SUPERIEURE OBERER MUHLEHALTER

19 WY28286075 RONDELLA K01020 WASHER RONDELLE SCHEIBE

20 WY28286023 PORTAMACINE SUPERIORE  K02400 UPPER GRINDSTONES HOLDER PORTE MEULES SUPERIEURE OBERER MUHLEHALTER

21 WY28286123 PORTAMACINE FISSO INFERIORE D-58mm K02725 LOWER GRINDSTONES HOLDER PORTE MEULES INFERIEURES UNTERMUHLEHALTER

22 WY28286166 VITE TORX TT65T M3x16 DIN965 K01021 SCREW VIS SCHRAUBE

23 WY28217014 MACINE 58D COPPIA K02058 MAC. ASC. GRINDSTONES COUPLE MEULE COUPLE MUHLE PAAR

24 WY28286034 VITE TT85Z DIN 7985 4x10 K02150 SCREW VIS SCHRAUBE

25 WY28247005 CONDENSATORE x K3 ELITE K01295 CAPACITOR CONDENSATEUR KONDENSATOR

26 WY28247003 MOTORE 230V 50Hz MINI MAX/INSTANT K02166 MOTOR 230V 50Hz MOTOR 230V 50Hz MOTOR 230V 50Hz

27 WY28286109 MOTORE 110V 60Hz K02108 MOTOR 110V MOTEUR 110V MOTOR 110V

28 WY28286113 CABLAGGIO INTERRUTTORE 220-240V K0228 SWITCH WIRING 220-240V CABLAGE DE L'INTERRUPTEUR 220-240V SCHALTER VERDRAHTUNG 220-240V

29 WY28286120 PORTAMACINE INFERIORE D-58mm K02704 LOWER GRINDSTONES HOLDER D-58mm PORTE MEULES INFERIEURES D-58mm UNTERMUHLEHALTER D-58mm

30 WY28357004 TRAMOGGIA COMPLETA  K02028 FULL HOPPER TREMIE COMPLETE VOLLE TRICHTER

30 WY28357005 TRAMOGGIA 300GR MINIMAX K02286 MAC.ASC HOPPER 30 GR MINI ASC. TREMIE TRICHTER

31 WY28357003 COPERCHIO TRAMOGGIA x K3 K02027 HOPPER COVER COUVERCLE TREMIE TRICHTERDECKEL

32 WY28357002 TRAMOGGIA K02028 HOPPER TREMIE TRICHTER

33 WY28326016 SERRANDA TRAMOGGIA K827 MAC.ASC 03 CLOSSING SHEET TOLE DE FERMETURE SCHLUSSBLECH



- 11 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

WMCK-05 rev. 00
09/2015

6.4A

ASSIEMI

USA

CEE

AUST

UK

CH

1

2

3

4

5

6

7

8

5

5

9
5

10

11

10
11

12

13
13

14

15

16

17

18

19

20

21

22

23

23

24
24
10

11

25

26
27
28
29
30

32

33

34

31

35

36

37

38

sistema telescopico/telescopic system

temporizzatore/timer



WMCK-05

- 12 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

rev. 00
09/2015

6.4A

ASSIEMI

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
1 WY28286028 VITE TT85T 5x12 IDT K01131 SCREW VIS SCHRAUBE

2 WY28286072 PROTEZIONE INFERIORE K00802 LOWER GUARD PROTECTION INFERIEURE UNTERER KETTENSCHUTZ

3 WY28286034 VITE TT85Z DIN 7985 4x10 K02150 SCREW VIS SCHRAUBE

4 WY28286056 RONDELLA K00082 WASHER LAVER UNTERLEGSCHEIBE

5 WY28286027 VITE TT85T 5x12 K01132 SCREW VIS SCHRAUBE

6 WY28360015 PIEDINO GOMMA BEARING FOOT PIED DE SUPPORT STUTZFUSS

7 WY28400010 VASCHETTA RECUPERO CAFFE'VERS.03 K803 MAC. COFFEE GROUNDS TROUGH RAMASSEUR CAFE SCHUSSEL ANSAMMLUNG KAFFEE

8 WY28165003 INTERRUTTORE BIP. NERO K069 MAC.ASC COFFEE GRINDER SWITCH INTERRUPTEUR MOULIN SCHALTER KAFFEEMUHLE

8 WY28165006 INTERRUTTORE CON LED K01290 MAC. ASC SWITCH WITH LED INTERRUPTEUR AVEC LED SCHALTER MIT LED

9 WY28126011 FORCELLA CORTA K815 MAC.ASC COFFEE GRINDER FORK K815 FOURCHETTE x MOULIN K815 GABEL x KAFFEEMUHLE K815

10 WY28326026 VITE BOCCHETTONE USCITA CAFFE' K1194 MAC.A COFFEE DISPENSER SCREW VIS TUYAU DE SORTIE CAFE SCHRAUBE AUSLAUFROHR KAFFEE

11 WY28326029 RONDELLA ZINCATA M4 K1127 MAC.ASC WASHER RONDELLE SCHEIBE

12 WY28400040 INTERRUTTORE 8.0 K8 FRESH K00069D SWITCH INTERRUPTEUR SCHALTER

13 WY28286031 VITE TT65T M5x12 K02079 SCREW VIS SCHRAUBE

14 WY28102004 DOSATORE COMPLETO ALL. DX K01226 COMP. DOSER COMPAC DISTRIBUTEUR COMPLET KOMPLETTE SPENDER

15 WY28286001 RECIPIENTE DOSATORE K030 MAC.AS CONTAINER DOSER K030 C.G.A RECIPIENT POUR DOSEUR K030 MA BEHALTER DOSIERANLAGE   K030

16 WY28002012 ANELLO CROM.x DOS.K6 K221 MAC.ASC CHROME RING FOR K6 DOSER K221 BAGUE CROME K221 CHROM RING K221

17 WY28054012 COPERCHIO DOSATORE K804 MAC.ASC 03 COFFEE GRINDER DOSER COUVERCLE DOSEUR MOULIN DOSIERANLAGEDECKEL FUR KAFFEEMUHLE

18 WY28286042 PRESSACAVO K01293 CABLE GRIP PRESSE CABLE PRESSEKABEL

19 WY28286041 PRESSACAVO K01292 CABLE GRIP PRESSE CABLE PRESSEKABEL

20 WY28126010 TAPPO K00104 MAC.ASC CAP CAPUCHON KAPPE

21 WY28360048 PASSA CAVO K00024 CABLE LOCKING PASSE CABLE LIPPKLAMPE

22 WY28002007 ASSIEME ARRESTO AUTOM. K732 MAC.ASC AUTOMATIC DOSER KIT COFFEE GRINDER K6 ENSEMBLE ARRET AUTOMATIQUE SATZ AUTOM.SPERRE

23 WY28286026 VITE TT65Z 4x8 K01058 SCREW VIS SCHRAUBE

24 WY28326028 RONDELLA IN GOMMA K1352 MAC.ASC GUM WASHER RONDELLE GUMMISCHEIBE

25 WY28357001 TRAMOGGIA COMPLETA 1,4KG K01358 MAC.ASC HOPPER COMPLETE FOR K01358 TREMIE POUR MOULIN K01358 TRICHTER KAFFEEMUHLE K01358

26 WY28286048 CAVO ALIMENTAZIONE AUSTRALIA K00369 POWER CABLE AUSTRALIA CABLE D'ALIMENTATION AUSTRALIA STROMKABEL AUSTRALIA

27 WY28286046 CAVO ALIMENTAZIONE EUROPA SGS 220V K01330 POWER CABLE EUROPE CABLAGE D'ALIMENTATION EUROPE STROMKABEL EUROPA

28 WY28286047 CAVO ALIMENTAZIONE SVIZZERA K00424 POWER CABLE SUISSE CABLE D'ALIMENTATION SUISSE STROMKABEL SCHWEIZ

29 WY28286049 CAVO ALIMENTAZIONE UK K00341 POWER CABLE UK CABLE D'ALIMENTATION UK STROMKABEL UK

30 WY28286050 CAVO ALIMENTAZIONE USA K00113 POWER CABLE USA CABLE D'ALIMENTATION USA STROMKABEL USA

31 WY28286077 CABLAGGIO ARRESTO AUTOMATICO 220V SENZA RE AUTOMATIC SHUTDOWN WIRING 220V CABLAGE DE L'ARRET AUTOMATIQUE 220V AUTOMATISCHE ABSCHALTUNG VERDRAHTUNG

31 WY28286078 CABLAGGIO ARRESTO AUTOMATICO 110V SENZA RE AUTOMATIC SHUTDOWN WIRING 110V CABLAGE DE L'ARRET AUTOMATIQUE 110V AUTOMATISCHE ABSCHALTUNG VERDRAHTUNG 

32 WY28400009 VITE TC M6X16 K073 MAC. ASC SCREW TC M6X16 K073 GRIND.AS VIS SCHRAUBE

33 WY28126006 FORCELLA LUNGA K015 MAC.ASC COFFEE GRINDER LONG FORK K015 FOURCHETTE x MOULIN LONG GABEL LANG x KAFFEEMUHLE

34 WY28286064 VITE ARRESTO K00456 STOPPING SCREW STOP VIS STOP SCHRAUBE

35 WY28286091 MANOPOLA INTERRUTTORE K01265 SWITCH KNOB BOUTON DE L'INTERRUPTEUR SCHALTER REGLER

36 WY28286144 VITE CL8IT 3.1x8 K05063 SCREW VIS SCHRAUBE

37 WY28219008 MOLLA x STELLA  K062 MAC.ASC SPRING FOR STAR RESSORT x ETOILE FEDER x STERN

38 WY28286074 TIMER COUPATAN C20 5 MIN 7992002105 K00990 TIMER TIMER TIMER



- 13 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

WMCK-06 rev. 00
09/2015

6.4A

DETTAGLI 1

1

23

45

6

7

8

9

10
11

12 13
14

15

16
17

18

19

20

21

22

23

24

23

25

26

27

28

29 30

31 16 32

33

34

35

30
36

25

37

22

38

40

39

5

42

43

44

46

47

44

41

45



WMCK-06

- 14 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

rev. 00
09/2015

6.4A

DETTAGLI 1

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
1 WY28286032 VITE DIN 912 M4x10 TT12 ZINCATA K01095 SCREW VIS SCHRAUBE

2 WY28360026 PLASTICA INF. DOSATORE K504 MAC.ASC LOWER PROTECTION PROTECTION INFERIEUR SCHUTZVORRICHTUNG TIEFER

3 WY28286089 TAMPONE PRESSINO ABS D-57 K01247 ABS TAMPER PAD GARNITURE PRESSE CAFE EN ABS KAFFEEPRESSE

3 WY28360043 TAMPONE PRESSINO D.53 x K6 K01249 MAC.ASC PAD PRESSER PAD PRESSEUR PAD DRUCKER

4 WY28286073 ANELLO SEGER K00819 RING SEGER BAGUE SEGER RING SEGER

4 WY28360027 MOLLA TORSIONE RITORNO LEVA K618 SPRING TORSION K618 RESSORT TORSION K618 STERN VERWINDUNG K618

5 WY28286086 TAMPONE PRESSINO ALLUMINIO D-53 K01164 ALUMINIUM TAMPER PAD GARNITURE PRESSE CAFE EN ALUMINIUM KAFFEEPRESSE

5 WY28360031 TAMPONE INFERIORE PRESSINO ALLUMINIO K0116 LOWER PRESSER PAD INFERIEURE PRESSEUR PAD BODENPOLSTERUNG DRUCKER

6 WY28286025 VITE TT85Z 5x12 K01080 SCREW VIS SCHRAUBE

7 WY28286067 RONDELLA ASSE DOSATORE K00653 DOSER WASHER DOSEUR RONDELLE SCHEIBE

8 WY28196005 LEVA DOSATORE k00829  MAC.ASC LEVER x GRINDER DOSER LEVIER DOSEUR HABEL K.MUHLEDOSIERANLAGE

9 WY28360005 PERNO PRESSINO K508 PIN K508 GOUJON K508 ZAPFEN K508

10 WY28219012 MOLLA PERNO K662 MAC.ASC 03 SPRING PIN RESSORT GOUJON FEDER ZAPFEN

11 WY28360010 PERNO LEVA  K090 MAC.ASC PIVOT LEVER LEVER PIVOTANT SCHWENKHEBEL

12 WY28126003 FERMO IN GOMMA K048 MAC.ASC RUBBER STOPPER BOUCHON DE CAOUTCHOUC GUMMISTOPFEN

13 WY28159306 CRICCHETTO K648 MAC.ASC 03 RATCHE K648 ENGRENAGE K648 SPERRKLINKE K648

14 WY28286081 ADATTATORE DOSATORE K01105 DOSER ADAPTER ADAPTEUR DE DOSEUR AUFGABETRICHTER ADAPTER

15 WY28279003 RONDELLA M26 K01093 MAC. ASC WASHER M26 RONDELLE M26 SCHEIBE M26

16 WY28286035 VITE DIN K01284 SCREW VIS SCHRAUBE

17 WY28279004 RONDELLA K00085 MAC. ASC WASHER RONDELLE SCHEIBE

18 WY28070005 CONTACOLPI K6 K678 MAC.ASC 03 COFFEE GRINDER COUNTER K6 K678 COMPTE-COUPS MOULIN KAFFEEZAHLER K6 K678

19 WY28070006 CORPO DOSATORE K658 BODY GRINDER DOSER K658 CORPS DOSEUR MOULIN K658 GRUPPE KAFFEEMUHLE ZAHLER K658

19 WY28286080 CORPO DOSATORE SENZA CONTACOLPI K01087 DISPENSER BODY WITH NO COFFEE COUNTER DISTRIBUTEUR DE CORPS AUCUN TRAIT DOSIERGERAT OHNE STRICH

20 WY28022005 BOCCOLA DOSATORE K01091 MAC.ASC BUSHING GRINDER DOSER DOUILLE DOSEUR MOULIN BUCHSE DOSIERANLAGE

21 WY28360022 GHIERA PRESSINO K505 h=11 RING NUT STAMPER K505 EMBOUT PRESSE-CAFE K505 ZWINGE KAFFEEPRESSE K505

22 WY28360001 PRESSINO K506 C.GRINDER COFFEE STAMPER PRESSE-CAFE MOULIN KAFFEEPRESSER MUEHLE K506

23 WY28286102 STELLA INFERIORE (BARISTA OPTION) K01482 LOWER STAR ETOILE A BASSE STERNE UNTEREN

23 WY28326024 STELLA INF.ALLUMINIO DOSATORE K01084 MAC.A COFFEE GRINDER LOWER STAR ALUMINIUM ETOILE INFERIEURE MOULIN ALUMINIUM KAFFEEMUHLE STERN ALUMINIUM

24 WY28219013 MOLLA STELLA K01092 MAC.ASC SPRING STAR RESSORT ETOILE FEDER STERN

25 WY28190001 LAMIERINO TAGLIADOSE K719 DOSING SECTOR FOR COFFEE GRINDER SECTEUR POUR MOULIN DOSEUR SCHEIDEWAND FUR KAFFEEMUHLE

26 WY28286088 RONDELLA IN NYLON PER STELLA IN ALLUMINIO NYLON WASHER NYLON RONDELLE NYLON SCHEIBE

27 WY28326020 STELLA SUP.DOSATORE ALLUMINIO K01082 MAC.A COFFEE GRINDER UPPER STAR ALUMINIUM ETOILE SUPERIEURE MOULIN ALUMINIUM KAFFEEMUHLE STERN ALUMINIUM

28 WY28322001 SEGER REGOLAZIONE DOSATORE K00543 MAC.ASC SNAP RING CONTROL GRINDER DOSER CIRCLIP REGULATEUR DOSEUR SEEGERRING REGULATOR DOSIERANLAGE

29 WY28286014 REGOLAZIONE DOSATORE ALLUMINIO K1096 MAC.A CONTROL GRINDER DOSER ALUMINIUM REGULATEUR DOSEUR MOULIN ALUMINIUM REGULATOR DOSIERANLAGE ALUMINIUM

30 WY28286108 ASTA DOSATORE K02087 DOSING SHAFT ARBRE DE DOSAGE DOSIERWELLE

31 WY28002007 ASSIEME ARRESTO AUTOM. K732 MAC.ASC AUTOMATIC DOSER KIT COFFEE GRINDER K6 ENSEMBLE ARRET AUTOMATIQUE SATZ AUTOM.SPERRE

32 WY28286071 COPERCHIO SCATOLA ARRESTO AUTOMATICO K0072 AUTOMATIC STOP BOX COVER COUVERCLE DU BOITER DE FERMETURE AUTOMATISCHE ABSCHALTUNG KASTENABDECKU

33 WY28165001 MICROINTERRUTTORE K733 MAC.ASC MICROSWITCH K733 MICRO-INTERRUPTEUR K733 MIKROSCHALTER K733



WMCK-06

- 15 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

rev. 00
09/2015

6.4A

DETTAGLI 1

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
34 WY28286070 SCATOLA ARRESTO AUTOMATICO K00728 AUTOMATIC STOP BOX BOITE DE COUPURE AUTOMATIQUE AUTOMATISCHER ABSCHALTUNG KASTEN

35 WY28360055 LEVETTA AUTO-STOP K00730 MAC.ASC AUTOMATIC STOP LEVER AUTOMATIQUE STOP LEVE AUTOMATIK STOP GABEL

36 WY28326021 STELLA SUP.DOSATORE ABS K01086 MAC.ASC COFFEE GRINDER UPPER STAR ABS ETOILE SUPERIEURE MOULIN ABS KAFFEEMUHLE STERN ABS

37 WY28326023 STELLA INTERM.ABS DOSATORE K01085 MAC.ASC COFFEE GRINDER MIDWAY STAR ABS ETOILE A MI-CHEMIN MOULIN ABS KAFFEEMUHLE STERN AUF HALBEM WEG ABS

38 WY28360019 PERNO TELESCOPICO K507 TELESCOPIC PIN K507 GOUIJON TELESCOPIQUE K507 TELESKOP ZAPFEN K507

39 WY28360003 MOLLA PRESSINO K509 SPRING STAMPER K509 RESSORT PRESSE-CAFE K509 FEDER KAFFEEPRESSE K509

40 WY28360004 GOMMINO DI ARRESTO K513 RUBBER K513 JOINT GOMME K513 GUMMI K513

41 WY28357001 TRAMOGGIA COMPLETA 1,4KG K01358 MAC.ASC HOPPER COMPLETE FOR K01358 TREMIE POUR MOULIN K01358 TRICHTER KAFFEEMUHLE K01358

42 WY28054002 COPERCHIO TRAMOGGIA    K00004 MAC.ASC COFFEE GRINDER HOPPER COUVERCLE TREMIE MOULIN TRICHTERDECKEL DER  KAFFEEMUEHLE

43 WY28357 TRAMOGGIA K00003 MAC.ASC HOPPER K003 A. TREMIE K003 A. TRICHTER KAFFEEMUHLE ASC.K003

44 WY28326016 SERRANDA TRAMOGGIA K827 MAC.ASC 03 CLOSSING SHEET TOLE DE FERMETURE SCHLUSSBLECH

45 WY28357005 TRAMOGGIA 300GR MINIMAX K02286 MAC.ASC HOPPER 30 GR MINI ASC. TREMIE TRICHTER

46 WY28357003 COPERCHIO TRAMOGGIA x K3 K02027 HOPPER COVER COUVERCLE TREMIE TRICHTERDECKEL

47 WY28286098 TRAMOGGIA 300gr K01361 HOPPER 300gr. TREMIE 300gr. TRICHTER 300gr.



- 16 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

WMCK-07 rev. 00
09/2015

6.4A

DETTAGLI 2

sistema parallelo/parallel system 

sistema micrometrico/micrometric system 

1

2

34

5

6

7 8
9

7
6

10 11

12

13

14

15 16

17

18

19
21
20

16
22

23

24

26 25

27

28

29

30

31 32

34

35

38

39

36

37

4041
42

43

44

45

46

47

48

33



WMCK-07

- 17 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

rev. 00
09/2015

6.4A

DETTAGLI 2

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
1 WY28286094 ADATTATORE METALLICO K01340 METALLIC ADAPTER ADAPTEUR METAL METALL ADAPTER

2 WY28286100 FERMO IN NYLON K01399 NYLON STOPPING STOP NYLON STOP NYLON

3 WY28126018 VITE M4x30 DIN 912 ZN (NM) K01314 MAC.ASC SCREW VIS SCHRAUBE

4 WY28001014 FERMO GASKET STOP JOINT STOP DICHTUNG STOP

5 WY28360009 PORTAMACINE 65D K01744 GRINDSTONES HOLDER PORTE-MEULES MUHLEHALTER

6 WY28217000 MACINE 65D COPPIA K099 MAC.ASC GRINDSTONES 65D COUPLE MEULES 65D COUPLE MUHLE 65D PAAR

6 WY28217004 MACINE TITANIO COPPIA K6 D-64 K218 TITANIUN GRINDSTONES COUPLE MEULE TITANIUM COUPLE TITANIUM MUHLE PAAR

7 WY28286034 VITE TT85Z DIN 7985 4x10 K02150 SCREW VIS SCHRAUBE

8 WY28279002 RONDELLA D.10 K00127 MAC. ASC WASHER D.10 RONDELLE D.10 SCHEIBE D.10

9 WY28107001 DADO M10 OTTONE K00115 MAC. ASC SCREW M10 LATON ECROU M10 LAITON MUTTER M10 MESSING

10 WY28286166 VITE TORX TT65T M3x16 DIN965 K01021 SCREW VIS SCHRAUBE

11 WY28286105 SUPPORTO MACINA SUPERIORE K01799 HIGHER SUPPORT GRINDS SOUTIEN BROIE SUPERIEUR SUPPORT SCHLEIFT HOHER

12 WY28360080 PORTAMACINE SUP. K6 SILENZIO K01400 MAC.AS UPPER GRINDSTONES HOLDER PORTE MEULES SUPERIEURE OBERER MUHLEHALTER

13 WY28286075 RONDELLA K01020 WASHER RONDELLE SCHEIBE

14 WY28286104 ANELLO SUPPORTO MACINA SUPERIORE K01798 HIGHER SUPPORT GRINDS RING SUPPORT D'ANNEAU BROIE SUPERIEUR RINGTRAGER SCHLEIFT HOHER

15 WY28286097 VITE BLOCCO REGOLAZIONE K01346 ADJUSTMENT BLOCK SCREW VIS DE REGLAGE DU BLOC BLOCK EINSTELLSCHRAUBE

16 WY28326028 RONDELLA IN GOMMA K1352 MAC.ASC GUM WASHER RONDELLE GUMMISCHEIBE

17 WY28286095 MOLLA BLOCCO K01343 LOCK SPRING RESSORT DE VERROUILLAGE SPERRE FRUHLING

18 WY28286006 REGOLATORE MACINATURA GRINDING CONTROL RING NUT EMBOUT REGULATION MOUTURE ZWINGE FUR MAHLENREGELUNG

19 WY28286096 PERNO BLOCCO REGOLAZIONE K01344 ADJUSTMENT LOCK PIN GOUPILLE DE VERROUILLAGE D'AJUSTEMENT ANPASSUNG SPERRE PIN

20 WY28326029 RONDELLA ZINCATA M4 K1127 MAC.ASC WASHER RONDELLE SCHEIBE

21 WY28326026 VITE BOCCHETTONE USCITA CAFFE' K1194 MAC.A COFFEE DISPENSER SCREW VIS TUYAU DE SORTIE CAFE SCHRAUBE AUSLAUFROHR KAFFEE

22 WY28286180 VITE BLOCCAGGIO TRAMOGGIA K03106 HOPPER LOCK SCREW K03106 VIS DE BLOCAGE TREMIE K03106 FESTSTELLSCHRAUBE TRICHTER K03106

23 WY28360071 SPINA COLLARE K03168 MAC.ASC PLUG COLLAR BRANCHEZ COLLIER STECKERKRAGEN

24 WY28360081 PORTAMACINE INF. K6 SILENZIO K0756S MAC.AS LOWER GRINDSTONES HOLDER PORTE MEULES INFERIEURES UNTERMUHLEHALTER

25 WY28286061 VITE FLANGIA K00100T FLANGE SCREW VIS DE BRIDE FLANSCH SCHRAUBE

26 WY28159305 GUARNIZIONE OR K103 MAC.ASC O RING K103 JOINT OR K103 OR DICHTUNG K103

27 WY28286060 FLANGIA MOTORE K00100 MOTOR FLANGE BRIDE MOTEUR MOTORFLANSCH

28 WY28247001 MOTORE 230V K130 MAC.ASC MOTOR 230V MOTEUR 230V MOTOR 230V

28 WY28247002 MOTORE 110V   K125 MAC.ASC MOTOR 110V MOTEUR 110V MOTOR 110V

29 WY28286079 SUPPORTO CONDENSATORE K01043 CAPACITOR SUPPORT SUPPORT DE CONDENSATEUR KONDENSATOR UNTERSTUTZUNG

30 WY28286069 STAFFA REGGICAVI BIANCA K00716 WHITE CABLE SUPPORT BRACKET SUPPORT DE CABLE BLANC KABELHALTER-UNTERSTUTZUNG WEISS

31 WY28286175 VITE M4x10 DIN965M K00072 SCREW VIS SCHRAUBE

32 WY28286148 CONDENSATORE 8mF CAPACITOR 8mF CONDENSATEUR 8mF KONDENSATOR 8mF

33 WY28286107 SCHEDA E CABLAGGIO K6 100-110V 50/60HZ K01 WIRING AND CARD 100-110V 50Hz CARTE ET CABLAGE 100-110V 50Hz KARTE UND VERKABELUNG 100-110V 50Hz

34 WY28286179 CABLAGGIO INTERNO SENZA ARRESTO-UL K00483 INTERNAL WIRING WITHOUT STOP-UL K00483 CABLAGE INTERNE SANS ARRESTATION-UL INTERNE VERDRAHTUNG OHNE VERHAFTUNG-UL

35 WY28286059 FLANGIA NYLON K00097 NYLON FLANGE BRIDE EN NYLON NYLON FLANSCH

36 WY28286181 COPPIA MACINE D-64mm K06699C COUPLE GRINDSTONES MEULE COUPLE MUHLE PAATR



WMCK-07

- 18 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

rev. 00
09/2015

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
37 WY28400014 VITE M3X17 K00084 MAC. ASC SCREW M3X17 K00084 GRIND.AS VIS M3X17 SCHRAUBE M3X17

38 WY28286178 CONDENSATORE 16mF K00475 CAPACITOR 16mF K00475 CONDENSATEUR 16mF K00475 KONDENSATOR 16mF K00475

39 WY28286063 RESISTENZA SCARICO K00411 HEATING ELEMENT RESISTANCE HEIZKORPER

40 WY28286054 SUPPORTO LAMIERA K00025 SHEET SUPPORT SOUTIEN DE FEUILLE BLATT UNTERSTUTZUNG

41 WY28286010 KLIXON RELAY 110V K00485 KLIXON RELAY KLIXON RELAY KLIXON RELAY

42 WY28286058 DADO M3  K00092 NUT ECROU NUT

43 WY28286084 PERNO BLOCCO REG.MACINATURA SISTEMA PARALL GRINDING ADJUSTMENT BLOCK PARALLEL SYSTEME PARALLELE DE BLOC DE REGLAGE VERSTELLSYSTEM BLOCK PARALLELE SCHLEIF

44 WY28286140 DADO M4 DIN 985 K05434 NUT M4 ECROU M4 NUT M4

45 WY28326030 TUBO SILICONE 4x6 MNG1846 K1353 MAC.ASC SILICON TUBE TUBE DE SILICONE SILIKONSCHLAUCH

46 WY28286083 FRENO SISTEMA PARALLELO K01158 PARALLEL SYSTEM BRAKE FREIN DE SYSTEME PARALLELE PARALLELES SYSTEM-BREMSE

47 WY28126016 PERNO FERMA GHIERA MAC.CONICO K03061 MAC.A STOP RING PIN BAGUE DE BUTEE STOP RING POLIG

48 WY28360061 VITE BLOCCAGGIO TAMPONE TEFLON K01729 MAC. BLOCK SCREW VIS DE BLOCAGE ARRETIERSCHRAUBE

6.4A

DETTAGLI 2



WMCK-08

- 19 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

rev. 00
09/2015

6.4A SILENZIO

ASSIEMI

USA

CEE

AUST

UK

CH

temporizzatore/timer

sistema telescopico/telescopic system

28
29
30
31
32

1

2

31
2

4
5

6

7

8

9

10

1

11

27

26

12

13

14

15

16

17 18
19

20

1

21

22

23

24

25

33
34

35

36

37

38

39



WMCK-08

- 20 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

rev. 00
09/2015

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
1 WY28286027 VITE TT85T 5x12 K01132 SCREW VIS SCHRAUBE

2 WY28360015 PIEDINO GOMMA BEARING FOOT PIED DE SUPPORT STUTZFUSS

3 WY28286028 VITE TT85T 5x12 IDT K01131 SCREW VIS SCHRAUBE

4 WY28360025 PROTEZIONE INFERIORE K802 MAC.ASC. 03 LOWER PROTECTION PROTECTION INFERIEUR SCHUTZVORRICHTUNG TIEFER

5 WY28286068 VITE SILENBLOCK K00672 SCREW SILENBLOCK VIS SILENBLOCK SCHRAUBE SILENBLOCK

6 WY28286034 VITE TT85Z DIN 7985 4x10 K02150 SCREW VIS SCHRAUBE

7 WY28286008 RONDELLA K082 MAC.ASC WASHER RONDELLE HAHNSCHEIBE

8 WY28165002 INTERRUTT.BIP. S-82 K076 MAC.ASC BIPOLAR SWITCH INTERRUPTEUR BIPOLAIRE BIPOLAR SWITCH

8 WY28165006 INTERRUTTORE CON LED K01290 MAC. ASC SWITCH WITH LED INTERRUPTEUR AVEC LED SCHALTER MIT LED

9 WY28286042 PRESSACAVO K01293 CABLE GRIP PRESSE CABLE PRESSEKABEL

10 WY28286041 PRESSACAVO K01292 CABLE GRIP PRESSE CABLE PRESSEKABEL

11 WY28360046 ANELLO SUPERIORE GOMMATO MAC SIL.K00967 MA RUBBER TOP RING JOINT SUPERIEURE GUMMIRING OBEN

12 WY28286026 VITE TT65Z 4x8 K01058 SCREW VIS SCHRAUBE

13 WY28002007 ASSIEME ARRESTO AUTOM. K732 MAC.ASC AUTOMATIC DOSER KIT COFFEE GRINDER K6 ENSEMBLE ARRET AUTOMATIQUE SATZ AUTOM.SPERRE

14 WY28360048 PASSA CAVO K00024 CABLE LOCKING PASSE CABLE LIPPKLAMPE

15 WY28126010 TAPPO K00104 MAC.ASC CAP CAPUCHON KAPPE

16 WY28022001 BOCCHETTONE K635 MAC.ASC CAFFEE GRINDER UNION GOULOTTE MOULIN STUTZEN FUR KAFFEEMUEHL

17 WY28326029 RONDELLA ZINCATA M4 K1127 MAC.ASC WASHER RONDELLE SCHEIBE

18 WY28326026 VITE BOCCHETTONE USCITA CAFFE' K1194 MAC.A COFFEE DISPENSER SCREW VIS TUYAU DE SORTIE CAFE SCHRAUBE AUSLAUFROHR KAFFEE

19 WY28286077 CABLAGGIO ARRESTO AUTOMATICO 220V SENZA RE AUTOMATIC SHUTDOWN WIRING 220V CABLAGE DE L'ARRET AUTOMATIQUE 220V AUTOMATISCHE ABSCHALTUNG VERDRAHTUNG

19 WY28286078 CABLAGGIO ARRESTO AUTOMATICO 110V SENZA RE AUTOMATIC SHUTDOWN WIRING 110V CABLAGE DE L'ARRET AUTOMATIQUE 110V AUTOMATISCHE ABSCHALTUNG VERDRAHTUNG 

20 WY28126011 FORCELLA CORTA K815 MAC.ASC COFFEE GRINDER FORK K815 FOURCHETTE x MOULIN K815 GABEL x KAFFEEMUHLE K815

21 WY28400010 VASCHETTA RECUPERO CAFFE'VERS.03 K803 MAC. COFFEE GROUNDS TROUGH RAMASSEUR CAFE SCHUSSEL ANSAMMLUNG KAFFEE

22 WY28286031 VITE TT65T M5x12 K02079 SCREW VIS SCHRAUBE

23 WY28286001 RECIPIENTE DOSATORE K030 MAC.AS CONTAINER DOSER K030 C.G.A RECIPIENT POUR DOSEUR K030 MA BEHALTER DOSIERANLAGE   K030

24 WY28002012 ANELLO CROM.x DOS.K6 K221 MAC.ASC CHROME RING FOR K6 DOSER K221 BAGUE CROME K221 CHROM RING K221

25 WY28054012 COPERCHIO DOSATORE K804 MAC.ASC 03 COFFEE GRINDER DOSER COUVERCLE DOSEUR MOULIN DOSIERANLAGEDECKEL FUR KAFFEEMUHLE

26 WY28357001 TRAMOGGIA COMPLETA 1,4KG K01358 MAC.ASC HOPPER COMPLETE FOR K01358 TREMIE POUR MOULIN K01358 TRICHTER KAFFEEMUHLE K01358

27 WY28326040 GUARNIZIONE TRAMOGGIA     K00570 HOPPER GASKET JOINT DE TREMIE HOPPER DICHTUNG

28 WY28286048 CAVO ALIMENTAZIONE AUSTRALIA K00369 POWER CABLE AUSTRALIA CABLE D'ALIMENTATION AUSTRALIA STROMKABEL AUSTRALIA

29 WY28286046 CAVO ALIMENTAZIONE EUROPA SGS 220V K01330 POWER CABLE EUROPE CABLAGE D'ALIMENTATION EUROPE STROMKABEL EUROPA

30 WY28286047 CAVO ALIMENTAZIONE SVIZZERA K00424 POWER CABLE SUISSE CABLE D'ALIMENTATION SUISSE STROMKABEL SCHWEIZ

31 WY28286049 CAVO ALIMENTAZIONE UK K00341 POWER CABLE UK CABLE D'ALIMENTATION UK STROMKABEL UK

32 WY28286050 CAVO ALIMENTAZIONE USA K00113 POWER CABLE USA CABLE D'ALIMENTATION USA STROMKABEL USA

33 WY28400009 VITE TC M6X16 K073 MAC. ASC SCREW TC M6X16 K073 GRIND.AS VIS SCHRAUBE

34 WY28126006 FORCELLA LUNGA K015 MAC.ASC COFFEE GRINDER LONG FORK K015 FOURCHETTE x MOULIN LONG GABEL LANG x KAFFEEMUHLE

35 WY28286064 VITE ARRESTO K00456 STOPPING SCREW STOP VIS STOP SCHRAUBE

36 WY28286091 MANOPOLA INTERRUTTORE K01265 SWITCH KNOB BOUTON DE L'INTERRUPTEUR SCHALTER REGLER

37 WY28286144 VITE CL8IT 3.1x8 K05063 SCREW VIS SCHRAUBE

38 WY28219008 MOLLA x STELLA  K062 MAC.ASC SPRING FOR STAR RESSORT x ETOILE FEDER x STERN

39 WY28286074 TIMER COUPATAN C20 5 MIN 7992002105 K00990 TIMER TIMER TIMER

6.4A SILENZIO

ASSIEMI



WMCK-09

- 21 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

rev. 00
09/2015

6.4A SILENZIO

DETTAGLI 1

1

23

45

6

7

8

9

10
11

12 13
14

15

16
17

18

19

20

21

22

23

24

23

25

26

27

28

29 30

31 16 32

33

34

35

30
36

25

37

22

38

40

39

5

42

43

44

46

47

44

41

45



- 22 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

WMCK-09 rev. 00
09/2015

6.4A SILENZIO

DETTAGLI 1

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
1 WY28286032 VITE DIN 912 M4x10 TT12 ZINCATA K01095 SCREW VIS SCHRAUBE

2 WY28360026 PLASTICA INF. DOSATORE K504 MAC.ASC LOWER PROTECTION PROTECTION INFERIEUR SCHUTZVORRICHTUNG TIEFER

3 WY28286089 TAMPONE PRESSINO ABS D-57 K01247 ABS TAMPER PAD GARNITURE PRESSE CAFE EN ABS KAFFEEPRESSE

3 WY28360043 TAMPONE PRESSINO D.53 x K6 K01249 MAC.ASC PAD PRESSER PAD PRESSEUR PAD DRUCKER

4 WY28286073 ANELLO SEGER K00819 RING SEGER BAGUE SEGER RING SEGER

4 WY28360027 MOLLA TORSIONE RITORNO LEVA K618 SPRING TORSION K618 RESSORT TORSION K618 STERN VERWINDUNG K618

5 WY28286086 TAMPONE PRESSINO ALLUMINIO D-53 K01164 ALUMINIUM TAMPER PAD GARNITURE PRESSE CAFE EN ALUMINIUM KAFFEEPRESSE

5 WY28360031 TAMPONE INFERIORE PRESSINO ALLUMINIO K0116 LOWER PRESSER PAD INFERIEURE PRESSEUR PAD BODENPOLSTERUNG DRUCKER

6 WY28286025 VITE TT85Z 5x12 K01080 SCREW VIS SCHRAUBE

7 WY28286067 RONDELLA ASSE DOSATORE K00653 DOSER WASHER DOSEUR RONDELLE SCHEIBE

8 WY28196005 LEVA DOSATORE k00829  MAC.ASC LEVER x GRINDER DOSER LEVIER DOSEUR HABEL K.MUHLEDOSIERANLAGE

9 WY28360005 PERNO PRESSINO K508 PIN K508 GOUJON K508 ZAPFEN K508

10 WY28219012 MOLLA PERNO K662 MAC.ASC 03 SPRING PIN RESSORT GOUJON FEDER ZAPFEN

11 WY28360010 PERNO LEVA  K090 MAC.ASC PIVOT LEVER LEVER PIVOTANT SCHWENKHEBEL

12 WY28126003 FERMO IN GOMMA K048 MAC.ASC RUBBER STOPPER BOUCHON DE CAOUTCHOUC GUMMISTOPFEN

13 WY28159306 CRICCHETTO K648 MAC.ASC 03 RATCHE K648 ENGRENAGE K648 SPERRKLINKE K648

14 WY28286081 ADATTATORE DOSATORE K01105 DOSER ADAPTER ADAPTEUR DE DOSEUR AUFGABETRICHTER ADAPTER

15 WY28279003 RONDELLA M26 K01093 MAC. ASC WASHER M26 RONDELLE M26 SCHEIBE M26

16 WY28286035 VITE DIN K01284 SCREW VIS SCHRAUBE

17 WY28279004 RONDELLA K00085 MAC. ASC WASHER RONDELLE SCHEIBE

18 WY28070005 CONTACOLPI K6 K678 MAC.ASC 03 COFFEE GRINDER COUNTER K6 K678 COMPTE-COUPS MOULIN KAFFEEZAHLER K6 K678

19 WY28070006 CORPO DOSATORE K658 BODY GRINDER DOSER K658 CORPS DOSEUR MOULIN K658 GRUPPE KAFFEEMUHLE ZAHLER K658

19 WY28286080 CORPO DOSATORE SENZA CONTACOLPI K01087 DISPENSER BODY WITH NO COFFEE COUNTER DISTRIBUTEUR DE CORPS AUCUN TRAIT DOSIERGERAT OHNE STRICH

20 WY28022005 BOCCOLA DOSATORE K01091 MAC.ASC BUSHING GRINDER DOSER DOUILLE DOSEUR MOULIN BUCHSE DOSIERANLAGE

21 WY28360022 GHIERA PRESSINO K505 h=11 RING NUT STAMPER K505 EMBOUT PRESSE-CAFE K505 ZWINGE KAFFEEPRESSE K505

22 WY28360001 PRESSINO K506 C.GRINDER COFFEE STAMPER PRESSE-CAFE MOULIN KAFFEEPRESSER MUEHLE K506

23 WY28286102 STELLA INFERIORE (BARISTA OPTION) K01482 LOWER STAR ETOILE A BASSE STERNE UNTEREN

23 WY28326024 STELLA INF.ALLUMINIO DOSATORE K01084 MAC.A COFFEE GRINDER LOWER STAR ALUMINIUM ETOILE INFERIEURE MOULIN ALUMINIUM KAFFEEMUHLE STERN ALUMINIUM

24 WY28219013 MOLLA STELLA K01092 MAC.ASC SPRING STAR RESSORT ETOILE FEDER STERN

25 WY28190001 LAMIERINO TAGLIADOSE K719 DOSING SECTOR FOR COFFEE GRINDER SECTEUR POUR MOULIN DOSEUR SCHEIDEWAND FUR KAFFEEMUHLE

26 WY28286088 RONDELLA IN NYLON PER STELLA IN ALLUMINIO NYLON WASHER NYLON RONDELLE NYLON SCHEIBE

27 WY28326020 STELLA SUP.DOSATORE ALLUMINIO K01082 MAC.A COFFEE GRINDER UPPER STAR ALUMINIUM ETOILE SUPERIEURE MOULIN ALUMINIUM KAFFEEMUHLE STERN ALUMINIUM

28 WY28322001 SEGER REGOLAZIONE DOSATORE K00543 MAC.ASC SNAP RING CONTROL GRINDER DOSER CIRCLIP REGULATEUR DOSEUR SEEGERRING REGULATOR DOSIERANLAGE

29 WY28286014 REGOLAZIONE DOSATORE ALLUMINIO K1096 MAC.A CONTROL GRINDER DOSER ALUMINIUM REGULATEUR DOSEUR MOULIN ALUMINIUM REGULATOR DOSIERANLAGE ALUMINIUM

30 WY28286108 ASTA DOSATORE K02087 DOSING SHAFT ARBRE DE DOSAGE DOSIERWELLE

31 WY28002007 ASSIEME ARRESTO AUTOM. K732 MAC.ASC AUTOMATIC DOSER KIT COFFEE GRINDER K6 ENSEMBLE ARRET AUTOMATIQUE SATZ AUTOM.SPERRE

32 WY28286071 COPERCHIO SCATOLA ARRESTO AUTOMATICO K0072 AUTOMATIC STOP BOX COVER COUVERCLE DU BOITER DE FERMETURE AUTOMATISCHE ABSCHALTUNG KASTENABDECK

33 WY28165001 MICROINTERRUTTORE K733 MAC.ASC MICROSWITCH K733 MICRO-INTERRUPTEUR K733 MIKROSCHALTER K733



WMCK-09

- 23 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

6.4A SILENZIO

DETTAGLI 1
rev. 00
09/2015

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
34 WY28286070 SCATOLA ARRESTO AUTOMATICO K00728 AUTOMATIC STOP BOX BOITE DE COUPURE AUTOMATIQUE AUTOMATISCHER ABSCHALTUNG KASTEN

35 WY28360055 LEVETTA AUTO-STOP K00730 MAC.ASC AUTOMATIC STOP LEVER AUTOMATIQUE STOP LEVE AUTOMATIK STOP GABEL

36 WY28326021 STELLA SUP.DOSATORE ABS K01086 MAC.ASC COFFEE GRINDER UPPER STAR ABS ETOILE SUPERIEURE MOULIN ABS KAFFEEMUHLE STERN ABS

37 WY28326023 STELLA INTERM.ABS DOSATORE K01085 MAC.ASC COFFEE GRINDER MIDWAY STAR ABS ETOILE A MI-CHEMIN MOULIN ABS KAFFEEMUHLE STERN AUF HALBEM WEG ABS

38 WY28360019 PERNO TELESCOPICO K507 TELESCOPIC PIN K507 GOUIJON TELESCOPIQUE K507 TELESKOP ZAPFEN K507

39 WY28360003 MOLLA PRESSINO K509 SPRING STAMPER K509 RESSORT PRESSE-CAFE K509 FEDER KAFFEEPRESSE K509

40 WY28360004 GOMMINO DI ARRESTO K513 RUBBER K513 JOINT GOMME K513 GUMMI K513

41 WY28357001 TRAMOGGIA COMPLETA 1,4KG K01358 MAC.ASC HOPPER COMPLETE FOR K01358 TREMIE POUR MOULIN K01358 TRICHTER KAFFEEMUHLE K01358

42 WY28054002 COPERCHIO TRAMOGGIA    K00004 MAC.ASC COFFEE GRINDER HOPPER COUVERCLE TREMIE MOULIN TRICHTERDECKEL DER  KAFFEEMUEHLE

43 WY28357 TRAMOGGIA K00003 MAC.ASC HOPPER K003 A. TREMIE K003 A. TRICHTER KAFFEEMUHLE ASC.K003

44 WY28326016 SERRANDA TRAMOGGIA K827 MAC.ASC 03 CLOSSING SHEET TOLE DE FERMETURE SCHLUSSBLECH

45 WY28357005 TRAMOGGIA 300GR MINIMAX K02286 MAC.ASC HOPPER 30 GR MINI ASC. TREMIE TRICHTER

46 WY28357003 COPERCHIO TRAMOGGIA x K3 K02027 HOPPER COVER COUVERCLE TREMIE TRICHTERDECKEL

47 WY28286098 TRAMOGGIA 300gr K01361 HOPPER 300gr. TREMIE 300gr. TRICHTER 300gr.



- 24 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

WMCK-10 rev. 00
09/2015

6.4A SILENZIO

DETTAGLI 2

sistema parallelo/parallel system

sistema micrometrico/micrometric system

1

2

34

5

6

7 8
9

7
6

10 11

12

13

14

15 16

17

18

19
21
20

16
22

23

24

26 25

27

28

29

30

31 32

34

35

38

39

36

37

4041
42

43

44

45

46

47

48

33

49

50

51



WMCK-10

- 25 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

6.4A SILENZIO

DETTAGLI 2

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
1 WY28286094 ADATTATORE METALLICO K01340 METALLIC ADAPTER ADAPTEUR METAL METALL ADAPTER

2 WY28286100 FERMO IN NYLON K01399 NYLON STOPPING STOP NYLON STOP NYLON

3 WY28126018 VITE M4x30 DIN 912 ZN (NM) K01314 MAC.ASC SCREW VIS SCHRAUBE

4 WY28001014 FERMO GASKET STOP JOINT STOP DICHTUNG STOP

5 WY28360009 PORTAMACINE 65D K01744 GRINDSTONES HOLDER PORTE-MEULES MUHLEHALTER

6 WY28217000 MACINE 65D COPPIA K099 MAC.ASC GRINDSTONES 65D COUPLE MEULES 65D COUPLE MUHLE 65D PAAR

6 WY28217004 MACINE TITANIO COPPIA K6 D-64 K218 TITANIUN GRINDSTONES COUPLE MEULE TITANIUM COUPLE TITANIUM MUHLE PAAR

7 WY28286034 VITE TT85Z DIN 7985 4x10 K02150 SCREW VIS SCHRAUBE

8 WY28279002 RONDELLA D.10 K00127 MAC. ASC WASHER D.10 RONDELLE D.10 SCHEIBE D.10

9 WY28107001 DADO M10 OTTONE K00115 MAC. ASC SCREW M10 LATON ECROU M10 LAITON MUTTER M10 MESSING

10 WY28286166 VITE TORX TT65T M3x16 DIN965 K01021 SCREW VIS SCHRAUBE

11 WY28286105 SUPPORTO MACINA SUPERIORE K01799 HIGHER SUPPORT GRINDS SOUTIEN BROIE SUPERIEUR SUPPORT SCHLEIFT HOHER

12 WY28360080 PORTAMACINE SUP. K6 SILENZIO K01400 MAC.AS UPPER GRINDSTONES HOLDER PORTE MEULES SUPERIEURE OBERER MUHLEHALTER

13 WY28286075 RONDELLA K01020 WASHER RONDELLE SCHEIBE

14 WY28286104 ANELLO SUPPORTO MACINA SUPERIORE K01798 HIGHER SUPPORT GRINDS RING SUPPORT D'ANNEAU BROIE SUPERIEUR RINGTRAGER SCHLEIFT HOHER

15 WY28286097 VITE BLOCCO REGOLAZIONE K01346 ADJUSTMENT BLOCK SCREW VIS DE REGLAGE DU BLOC BLOCK EINSTELLSCHRAUBE

16 WY28326028 RONDELLA IN GOMMA K1352 MAC.ASC GUM WASHER RONDELLE GUMMISCHEIBE

17 WY28286095 MOLLA BLOCCO K01343 LOCK SPRING RESSORT DE VERROUILLAGE SPERRE FRUHLING

18 WY28286006 REGOLATORE MACINATURA GRINDING CONTROL RING NUT EMBOUT REGULATION MOUTURE ZWINGE FUR MAHLENREGELUNG

19 WY28286096 PERNO BLOCCO REGOLAZIONE K01344 ADJUSTMENT LOCK PIN GOUPILLE DE VERROUILLAGE D'AJUSTEMENT ANPASSUNG SPERRE PIN

20 WY28326029 RONDELLA ZINCATA M4 K1127 MAC.ASC WASHER RONDELLE SCHEIBE

21 WY28326026 VITE BOCCHETTONE USCITA CAFFE' K1194 MAC.A COFFEE DISPENSER SCREW VIS TUYAU DE SORTIE CAFE SCHRAUBE AUSLAUFROHR KAFFEE

22 WY28286180 VITE BLOCCAGGIO TRAMOGGIA K03106 HOPPER LOCK SCREW K03106 VIS DE BLOCAGE TREMIE K03106 FESTSTELLSCHRAUBE TRICHTER K03106

23 WY28360071 SPINA COLLARE K03168 MAC.ASC PLUG COLLAR BRANCHEZ COLLIER STECKERKRAGEN

24 WY28360081 PORTAMACINE INF. K6 SILENZIO K0756S MAC.AS LOWER GRINDSTONES HOLDER PORTE MEULES INFERIEURES UNTERMUHLEHALTER

25 WY28286061 VITE FLANGIA K00100T FLANGE SCREW VIS DE BRIDE FLANSCH SCHRAUBE

26 WY28159305 GUARNIZIONE OR K103 MAC.ASC O RING K103 JOINT OR K103 OR DICHTUNG K103

27 WY28286060 FLANGIA MOTORE K00100 MOTOR FLANGE BRIDE MOTEUR MOTORFLANSCH

28 WY28247001 MOTORE 230V K130 MAC.ASC MOTOR 230V MOTEUR 230V MOTOR 230V

28 WY28247002 MOTORE 110V   K125 MAC.ASC MOTOR 110V MOTEUR 110V MOTOR 110V

29 WY28286079 SUPPORTO CONDENSATORE K01043 CAPACITOR SUPPORT SUPPORT DE CONDENSATEUR KONDENSATOR UNTERSTUTZUNG

30 WY28286069 STAFFA REGGICAVI BIANCA K00716 WHITE CABLE SUPPORT BRACKET SUPPORT DE CABLE BLANC KABELHALTER-UNTERSTUTZUNG WEISS

31 WY28286175 VITE M4x10 DIN965M K00072 SCREW VIS SCHRAUBE

32 WY28286148 CONDENSATORE 8mF CAPACITOR 8mF CONDENSATEUR 8mF KONDENSATOR 8mF

33 WY28286107 SCHEDA E CABLAGGIO K6 100-110V 50/60HZ K01 WIRING AND CARD 100-110V 50Hz CARTE ET CABLAGE 100-110V 50Hz KARTE UND VERKABELUNG 100-110V 50Hz

34 WY28286179 CABLAGGIO INTERNO SENZA ARRESTO-UL K00483 INTERNAL WIRING WITHOUT STOP-UL K00483 CABLAGE INTERNE SANS ARRESTATION-UL INTERNE VERDRAHTUNG OHNE VERHAFTUNG-UL

35 WY28286059 FLANGIA NYLON K00097 NYLON FLANGE BRIDE EN NYLON NYLON FLANSCH

36 WY28286181 COPPIA MACINE D-64mm K06699C COUPLE GRINDSTONES MEULE COUPLE MUHLE PAATR

rev. 00
09/2015



WMCK-10

- 26 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
37 WY28400014 VITE M3X17 K00084 MAC. ASC SCREW M3X17 K00084 GRIND.AS VIS M3X17 SCHRAUBE M3X17

38 WY28286178 CONDENSATORE 16mF K00475 CAPACITOR 16mF K00475 CONDENSATEUR 16mF K00475 KONDENSATOR 16mF K00475

39 WY28286063 RESISTENZA SCARICO K00411 HEATING ELEMENT RESISTANCE HEIZKORPER

40 WY28286054 SUPPORTO LAMIERA K00025 SHEET SUPPORT SOUTIEN DE FEUILLE BLATT UNTERSTUTZUNG

41 WY28286010 KLIXON RELAY 110V K00485 KLIXON RELAY KLIXON RELAY KLIXON RELAY

42 WY28286058 DADO M3  K00092 NUT ECROU NUT

43 WY28286084 PERNO BLOCCO REG.MACINATURA SISTEMA PARALL GRINDING ADJUSTMENT BLOCK PARALLEL SYSTEME PARALLELE DE BLOC DE REGLAGE VERSTELLSYSTEM BLOCK PARALLELE SCHLEIF

44 WY28286140 DADO M4 DIN 985 K05434 NUT M4 ECROU M4 NUT M4

45 WY28326030 TUBO SILICONE 4x6 MNG1846 K1353 MAC.ASC SILICON TUBE TUBE DE SILICONE SILIKONSCHLAUCH

46 WY28286083 FRENO SISTEMA PARALLELO K01158 PARALLEL SYSTEM BRAKE FREIN DE SYSTEME PARALLELE PARALLELES SYSTEM-BREMSE

47 WY28126016 PERNO FERMA GHIERA MAC.CONICO K03061 MAC.A STOP RING PIN BAGUE DE BUTEE STOP RING POLIG

48 WY28360061 VITE BLOCCAGGIO TAMPONE TEFLON K01729 MAC. BLOCK SCREW VIS DE BLOCAGE ARRETIERSCHRAUBE

49 WY28286093 BOCCOLA ISOLANTE K01287 AXLE DOUILLE BUCHSE

50 WY28286076 PRIGIONIERO SILENCEBLOCK K01034 PRISONER SILENCEBLOCK PRISONNIER GEFANGENER

51 WY28360045 GOMMINO SUPP.MOTORE MAC SIL.K00967 MAC.ASC RUBBER MOTOR SUPPORT CAOUTCHOUC DE MONTAGE MOTEUR MOTOR MONTAGEGUMMI

6.4A SILENZIO

DETTAGLI 2
rev. 00
09/2015



- 27 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

WMCK-11 rev. 00
09/2015

6.8A KONIK

ASSIEMI

USA

CEE GS

AUST

UK

CH

temporizzatore/timer

sistema telescopico/telescopic system

1

26
27
28
29
30

2
3
4 2

3
4

5

6
7

8

9

1 10
11

12

13

14

15

16

17

18

19

20

21

14
2215

22

2324

25

31

32

1

33

36

37

34

35

38

39

40

41
13

12
42

43



WMCK-11

- 28 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

6.8A KONIK

ASSIEMI

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
1 WY28286027 VITE TT85T 5x12 K01132 SCREW VIS SCHRAUBE

2 WY28360078 VITE PIEDINO K06324 MAC.ASC FOOT SCREW VIS DE PIED SCHRAUBE FUSS

3 WY28360077 PIEDINO GOMMA K06323 MAC.ASC RUBBER FOOT PIEDS EN CAOUTCHOUC GUMMIFUSS

4 WY28360076 PROFILO PIEDINO K03822 MAC.ASC FOOT PROFILE PROFIL DE JAMBE BEIN PROFIL

5 WY28286072 PROTEZIONE INFERIORE K00802 LOWER GUARD PROTECTION INFERIEURE UNTERER KETTENSCHUTZ

6 WY28286034 VITE TT85Z DIN 7985 4x10 K02150 SCREW VIS SCHRAUBE

7 WY28286056 RONDELLA K00082 WASHER LAVER UNTERLEGSCHEIBE

8 WY28286042 PRESSACAVO K01293 CABLE GRIP PRESSE CABLE PRESSEKABEL

9 WY28286041 PRESSACAVO K01292 CABLE GRIP PRESSE CABLE PRESSEKABEL

10 WY28165009 INT.ACCENSIONE 0/1+ MANOPOLA x KONIK 6.8 K POWER SWITCH CONTACTEUR D'ALLUMAGE STARTSCHALTER

11 WY28165010 ETICHETTA 0/1 x KONIK 6.8 K3086 LABEL ETIQUETTE ETIKETT

12 WY28286144 VITE CL8IT 3.1x8 K05063 SCREW VIS SCHRAUBE

13 WY28286091 MANOPOLA INTERRUTTORE K01265 SWITCH KNOB BOUTON DE L'INTERRUPTEUR SCHALTER REGLER

14 WY28326026 VITE BOCCHETTONE USCITA CAFFE' K1194 MAC.A COFFEE DISPENSER SCREW VIS TUYAU DE SORTIE CAFE SCHRAUBE AUSLAUFROHR KAFFEE

15 WY28326029 RONDELLA ZINCATA M4 K1127 MAC.ASC WASHER RONDELLE SCHEIBE

16 WY28286052 USCITA CAFFE' K00008 COFFEE OUTLET OPENING ORIFICE DE SORTIE DE CAFE' KAFFEE STECKDOSE EROFFNUNG

17 WY28126010 TAPPO K00104 MAC.ASC CAP CAPUCHON KAPPE

18 WY28360048 PASSA CAVO K00024 CABLE LOCKING PASSE CABLE LIPPKLAMPE

19 WY28002007 ASSIEME ARRESTO AUTOM. K732 MAC.ASC AUTOMATIC DOSER KIT COFFEE GRINDER K6 ENSEMBLE ARRET AUTOMATIQUE SATZ AUTOM.SPERRE

20 WY28286026 VITE TT65Z 4x8 K01058 SCREW VIS SCHRAUBE

21 WY28357001 TRAMOGGIA COMPLETA 1,4KG K01358 MAC.ASC HOPPER COMPLETE FOR K01358 TREMIE POUR MOULIN K01358 TRICHTER KAFFEEMUHLE K01358

22 WY28326028 RONDELLA IN GOMMA K1352 MAC.ASC GUM WASHER RONDELLE GUMMISCHEIBE

23 WY28286032 VITE DIN 912 M4x10 TT12 ZINCATA K01095 SCREW VIS SCHRAUBE

24 WY28286139 VENTOLA 110V CON TERMOSTATO K04528C FAN 110V VENTILATEUR 110V LUFTERRAD 110V

24 WY28360060 VENTOLA K10 K04524 MAC.ASC FAN VENTIL VENTIL

25 WY28286149 VITE TESTA OVALE M3x6 K06025 OVAL HEAD SCREW VIS TETE OVALE OVALER KOPF SCHRAUBE

26 WY28286048 CAVO ALIMENTAZIONE AUSTRALIA K00369 POWER CABLE AUSTRALIA CABLE D'ALIMENTATION AUSTRALIA STROMKABEL AUSTRALIA

27 WY28286046 CAVO ALIMENTAZIONE EUROPA SGS 220V K01330 POWER CABLE EUROPE CABLAGE D'ALIMENTATION EUROPE STROMKABEL EUROPA

28 WY28286047 CAVO ALIMENTAZIONE SVIZZERA K00424 POWER CABLE SUISSE CABLE D'ALIMENTATION SUISSE STROMKABEL SCHWEIZ

29 WY28286049 CAVO ALIMENTAZIONE UK K00341 POWER CABLE UK CABLE D'ALIMENTATION UK STROMKABEL UK

30 WY28286050 CAVO ALIMENTAZIONE USA K00113 POWER CABLE USA CABLE D'ALIMENTATION USA STROMKABEL USA

31 WY28286077 CABLAGGIO ARRESTO AUTOMATICO 220V SENZA RE AUTOMATIC SHUTDOWN WIRING 220V CABLAGE DE L'ARRET AUTOMATIQUE 220V AUTOMATISCHE ABSCHALTUNG VERDRAHTUNG 

31 WY28286078 CABLAGGIO ARRESTO AUTOMATICO 110V SENZA RE AUTOMATIC SHUTDOWN WIRING 110V CABLAGE DE L'ARRET AUTOMATIQUE 110V AUTOMATISCHE ABSCHALTUNG VERDRAHTUNG 

32 WY28286193 FORCELLA CORTA K01155F COFFEE GRINDER FORK K01155F FOURCHETTE x MOULIN K01155F GABEL x KAFFEEMUHLE K01155F

33 WY28400010 VASCHETTA RECUPERO CAFFE'VERS.03 K803 MAC. COFFEE GROUNDS TROUGH RAMASSEUR CAFE SCHUSSEL ANSAMMLUNG KAFFEE

34 WY28054012 COPERCHIO DOSATORE K804 MAC.ASC 03 COFFEE GRINDER DOSER COUVERCLE DOSEUR MOULIN DOSIERANLAGEDECKEL FUR KAFFEEMUHLE

35 WY28400009 VITE TC M6X16 K073 MAC. ASC SCREW TC M6X16 K073 GRIND.AS VIS SCHRAUBE

36 WY28126006 FORCELLA LUNGA K015 MAC.ASC COFFEE GRINDER LONG FORK K015 FOURCHETTE x MOULIN LONG GABEL LANG x KAFFEEMUHLE

rev. 00
09/2015



WMCK-11

- 29 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

6.8A KONIK

ASSIEMI

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
37 WY28286064 VITE ARRESTO K00456 STOPPING SCREW STOP VIS STOP SCHRAUBE

38 WY28002012 ANELLO CROM.x DOS.K6 K221 MAC.ASC CHROME RING FOR K6 DOSER K221 BAGUE CROME K221 CHROM RING K221

39 WY28286001 RECIPIENTE DOSATORE K030 MAC.AS CONTAINER DOSER K030 C.G.A RECIPIENT POUR DOSEUR K030 MA BEHALTER DOSIERANLAGE   K030

40 WY28102004 DOSATORE COMPLETO ALL. DX K01226 COMP. DOSER COMPAC DISTRIBUTEUR COMPLET KOMPLETTE SPENDER

41 WY28286031 VITE TT65T M5x12 K02079 SCREW VIS SCHRAUBE

42 WY28286164 ETICHETTA TIMER ANALOGICO (OPTION) V00062 ANALOGIC TIMER STICKER ETIQUETTE DE MINUTERIE ANALOGIQUE ANALOGE ZEITGEBER ETIKETT

43 WY28162001 TIMER COUPATAN C20 5MIN.xK6 K990 MAC.ASC 3-MIN.TIMER K212 A. TIMER TIMER

rev. 00
09/2015



- 30 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

WMCK-12 rev. 00
09/2015

6.8A KONIK

DETTAGLI 1

1

23

45

6

7

8

9

10
11

12 13
14

15

16
17

18

19

20

21

22

23

24

23

25

26

27

28

29 30

31 16 32

33

34

35

30
36

25

37

22

38

40

39

5

42

43

44

46

47

44

41

45



WMCK-12

- 31 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

6.8A KONIK

DETTAGLI 1

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
1 WY28286032 VITE DIN 912 M4x10 TT12 ZINCATA K01095 SCREW VIS SCHRAUBE

2 WY28360026 PLASTICA INF. DOSATORE K504 MAC.ASC LOWER PROTECTION PROTECTION INFERIEUR SCHUTZVORRICHTUNG TIEFER

3 WY28286089 TAMPONE PRESSINO ABS D-57 K01247 ABS TAMPER PAD GARNITURE PRESSE CAFE EN ABS KAFFEEPRESSE

3 WY28360043 TAMPONE PRESSINO D.53 x K6 K01249 MAC.ASC PAD PRESSER PAD PRESSEUR PAD DRUCKER

4 WY28286073 ANELLO SEGER K00819 RING SEGER BAGUE SEGER RING SEGER

4 WY28360027 MOLLA TORSIONE RITORNO LEVA K618 SPRING TORSION K618 RESSORT TORSION K618 STERN VERWINDUNG K618

5 WY28286086 TAMPONE PRESSINO ALLUMINIO D-53 K01164 ALUMINIUM TAMPER PAD GARNITURE PRESSE CAFE EN ALUMINIUM KAFFEEPRESSE

5 WY28360031 TAMPONE INFERIORE PRESSINO ALLUMINIO K0116 LOWER PRESSER PAD INFERIEURE PRESSEUR PAD BODENPOLSTERUNG DRUCKER

6 WY28286025 VITE TT85Z 5x12 K01080 SCREW VIS SCHRAUBE

7 WY28286067 RONDELLA ASSE DOSATORE K00653 DOSER WASHER DOSEUR RONDELLE SCHEIBE

8 WY28196005 LEVA DOSATORE k00829  MAC.ASC LEVER x GRINDER DOSER LEVIER DOSEUR HABEL K.MUHLEDOSIERANLAGE

9 WY28360005 PERNO PRESSINO K508 PIN K508 GOUJON K508 ZAPFEN K508

10 WY28219012 MOLLA PERNO K662 MAC.ASC 03 SPRING PIN RESSORT GOUJON FEDER ZAPFEN

11 WY28360010 PERNO LEVA  K090 MAC.ASC PIVOT LEVER LEVER PIVOTANT SCHWENKHEBEL

12 WY28126003 FERMO IN GOMMA K048 MAC.ASC RUBBER STOPPER BOUCHON DE CAOUTCHOUC GUMMISTOPFEN

13 WY28159306 CRICCHETTO K648 MAC.ASC 03 RATCHE K648 ENGRENAGE K648 SPERRKLINKE K648

14 WY28286081 ADATTATORE DOSATORE K01105 DOSER ADAPTER ADAPTEUR DE DOSEUR AUFGABETRICHTER ADAPTER

15 WY28279003 RONDELLA M26 K01093 MAC. ASC WASHER M26 RONDELLE M26 SCHEIBE M26

16 WY28286035 VITE DIN K01284 SCREW VIS SCHRAUBE

17 WY28279004 RONDELLA K00085 MAC. ASC WASHER RONDELLE SCHEIBE

18 WY28070005 CONTACOLPI K6 K678 MAC.ASC 03 COFFEE GRINDER COUNTER K6 K678 COMPTE-COUPS MOULIN KAFFEEZAHLER K6 K678

19 WY28070006 CORPO DOSATORE K658 BODY GRINDER DOSER K658 CORPS DOSEUR MOULIN K658 GRUPPE KAFFEEMUHLE ZAHLER K658

19 WY28286080 CORPO DOSATORE SENZA CONTACOLPI K01087 DISPENSER BODY WITH NO COFFEE COUNTER DISTRIBUTEUR DE CORPS AUCUN TRAIT DOSIERGERAT OHNE STRICH

20 WY28022005 BOCCOLA DOSATORE K01091 MAC.ASC BUSHING GRINDER DOSER DOUILLE DOSEUR MOULIN BUCHSE DOSIERANLAGE

21 WY28360022 GHIERA PRESSINO K505 h=11 RING NUT STAMPER K505 EMBOUT PRESSE-CAFE K505 ZWINGE KAFFEEPRESSE K505

22 WY28360001 PRESSINO K506 C.GRINDER COFFEE STAMPER PRESSE-CAFE MOULIN KAFFEEPRESSER MUEHLE K506

23 WY28286102 STELLA INFERIORE (BARISTA OPTION) K01482 LOWER STAR ETOILE A BASSE STERNE UNTEREN

23 WY28326024 STELLA INF.ALLUMINIO DOSATORE K01084 MAC.A COFFEE GRINDER LOWER STAR ALUMINIUM ETOILE INFERIEURE MOULIN ALUMINIUM KAFFEEMUHLE STERN ALUMINIUM

24 WY28219013 MOLLA STELLA K01092 MAC.ASC SPRING STAR RESSORT ETOILE FEDER STERN

25 WY28190001 LAMIERINO TAGLIADOSE K719 DOSING SECTOR FOR COFFEE GRINDER SECTEUR POUR MOULIN DOSEUR SCHEIDEWAND FUR KAFFEEMUHLE

26 WY28286088 RONDELLA IN NYLON PER STELLA IN ALLUMINIO NYLON WASHER NYLON RONDELLE NYLON SCHEIBE

27 WY28326020 STELLA SUP.DOSATORE ALLUMINIO K01082 MAC.A COFFEE GRINDER UPPER STAR ALUMINIUM ETOILE SUPERIEURE MOULIN ALUMINIUM KAFFEEMUHLE STERN ALUMINIUM

28 WY28322001 SEGER REGOLAZIONE DOSATORE K00543 MAC.ASC SNAP RING CONTROL GRINDER DOSER CIRCLIP REGULATEUR DOSEUR SEEGERRING REGULATOR DOSIERANLAGE

29 WY28286014 REGOLAZIONE DOSATORE ALLUMINIO K1096 MAC.A CONTROL GRINDER DOSER ALUMINIUM REGULATEUR DOSEUR MOULIN ALUMINIUM REGULATOR DOSIERANLAGE ALUMINIUM

30 WY28286108 ASTA DOSATORE K02087 DOSING SHAFT ARBRE DE DOSAGE DOSIERWELLE

31 WY28002007 ASSIEME ARRESTO AUTOM. K732 MAC.ASC AUTOMATIC DOSER KIT COFFEE GRINDER K6 ENSEMBLE ARRET AUTOMATIQUE SATZ AUTOM.SPERRE

32 WY28286071 COPERCHIO SCATOLA ARRESTO AUTOMATICO K0072 AUTOMATIC STOP BOX COVER COUVERCLE DU BOITER DE FERMETURE AUTOMATISCHE ABSCHALTUNG KASTENABDECK

33 WY28165001 MICROINTERRUTTORE K733 MAC.ASC MICROSWITCH K733 MICRO-INTERRUPTEUR K733 MIKROSCHALTER K733

rev. 00
09/2015



- 32 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

WMCK-12 rev. 00
09/2015

6.8A KONIK

DETTAGLI 1

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
34 WY28286070 SCATOLA ARRESTO AUTOMATICO K00728 AUTOMATIC STOP BOX BOITE DE COUPURE AUTOMATIQUE AUTOMATISCHER ABSCHALTUNG KASTEN

35 WY28360055 LEVETTA AUTO-STOP K00730 MAC.ASC AUTOMATIC STOP LEVER AUTOMATIQUE STOP LEVE AUTOMATIK STOP GABEL

36 WY28326021 STELLA SUP.DOSATORE ABS K01086 MAC.ASC COFFEE GRINDER UPPER STAR ABS ETOILE SUPERIEURE MOULIN ABS KAFFEEMUHLE STERN ABS

37 WY28326023 STELLA INTERM.ABS DOSATORE K01085 MAC.ASC COFFEE GRINDER MIDWAY STAR ABS ETOILE A MI-CHEMIN MOULIN ABS KAFFEEMUHLE STERN AUF HALBEM WEG ABS

38 WY28360019 PERNO TELESCOPICO K507 TELESCOPIC PIN K507 GOUIJON TELESCOPIQUE K507 TELESKOP ZAPFEN K507

39 WY28360003 MOLLA PRESSINO K509 SPRING STAMPER K509 RESSORT PRESSE-CAFE K509 FEDER KAFFEEPRESSE K509

40 WY28360004 GOMMINO DI ARRESTO K513 RUBBER K513 JOINT GOMME K513 GUMMI K513

41 WY28357001 TRAMOGGIA COMPLETA 1,4KG K01358 MAC.ASC HOPPER COMPLETE FOR K01358 TREMIE POUR MOULIN K01358 TRICHTER KAFFEEMUHLE K01358

42 WY28054002 COPERCHIO TRAMOGGIA    K00004 MAC.ASC COFFEE GRINDER HOPPER COUVERCLE TREMIE MOULIN TRICHTERDECKEL DER  KAFFEEMUEHLE

43 WY28357 TRAMOGGIA K00003 MAC.ASC HOPPER K003 A. TREMIE K003 A. TRICHTER KAFFEEMUHLE ASC.K003

44 WY28326016 SERRANDA TRAMOGGIA K827 MAC.ASC 03 CLOSSING SHEET TOLE DE FERMETURE SCHLUSSBLECH

45 WY28357005 TRAMOGGIA 300GR MINIMAX K02286 MAC.ASC HOPPER 30 GR MINI ASC. TREMIE TRICHTER

46 WY28357003 COPERCHIO TRAMOGGIA x K3 K02027 HOPPER COVER COUVERCLE TREMIE TRICHTERDECKEL

47 WY28286098 TRAMOGGIA 300gr K01361 HOPPER 300gr. TREMIE 300gr. TRICHTER 300gr.



WMCK-13

- 33 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

6.8A KONIK

DETTAGLI 2
rev. 00
09/2015

1

3

2

4

5

6

8

9

10

7

11

11

12

9

13

14

15

16

18
19

20

17

23
24

25
26

21
22

23 27

28

29

30
31
32

33

34

35

39
38

37

36

41

40

42

sistema parallelo/parallel system

sistema micrometrico/micrometric system

scheda/board



- 34 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

WMCK-13 rev. 00
09/2015

6.8A KONIK

DETTAGLI 2

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
1 WY28286131 MOTORE PER K10 220/240V K03172 MOTOR 220-240V MOTOR 220-240V MOTOR 220-240V

1 WY28286134 MOTORE PER K10 110V K03176 MOTOR 110V MOTOR 110V MOTOR 110V

2 WY28165013 INGRANAGGIO MOTORIDUTTORE K03057 MOTOR REDUCER MOTO REDUCTEUR GETRIEBEMOTOR

3 WY28165012 RIDUTTORE K03071 REDUCER REDUCTEUR REDUKTOR

4 WY28159305 GUARNIZIONE OR K103 MAC.ASC O RING K103 JOINT OR K103 OR DICHTUNG K103

5 WY28286129 CASSA DI MACINATURA x K10 K03101 GRIND CASE CAS DE MOUTURE FALL ZU MAHLEN

6 WY28286094 ADATTATORE METALLICO K01340 METALLIC ADAPTER ADAPTEUR METAL METALL ADAPTER

7 WY28286055 VITE 6x16 K00065 SCREW 6X16 VIS 6X16 SCHRAUBE 6X16

8 WY28286100 FERMO IN NYLON K01399 NYLON STOPPING STOP NYLON STOP NYLON

9 WY28126018 VITE M4x30 DIN 912 ZN (NM) K01314 MAC.ASC SCREW VIS SCHRAUBE

10 WY28286124 PORTAMACINE CONICA INFERIORE K03013 CONIC LOWER GRINDSTONES HOLDER PORTE MEULES INFERIEURES CONIQUES KONISCHE OBERER MUHLEHALTER

11 WY28217018 MACINE CONICHE K10 COPPIA D.68mm K03078 MA CONIC GRINDSTONES MEULES CONIQUES KONIK MUHLE

12 WY28360064 ELICA K06120 MAC.ASC PROPELLER HELICE PROPELLER

13 WY28360063 VITE LAMINA INF. K03060 MAC.ASC SCREW VIS SCHRAUBE

14 WY28286126 PORTAMACINA CONICA FISSA SUPERIORE K03026 CONIC UPPER GRINDSTONES HOLDER PORTE MEULES SUPERIEURE CONIQUES KONIK OBERER MUHLEHALTER

15 WY28286135 PORTAMACINE SUPERIORE K8 E K10 K03400 UPPER GRINDSTONES HOLDER PORTE MEULES SUPERIEURE OBERER MUHLEHALTER

16 WY28286125 RONDELLA ELASTICA AR M-85 DIN 1005 K03025 ELASTIC WASHER RONDELLE A RESSORT FEDERSCHEIBE

17 WY28286127 FERMO PORTAMACINA CONICA FISSA SUPERIORE K STOPPING UPPER CONIC GRINDSTONES HOLDER BLOC DE PORTE MEULES SUPERIEURES CO STOP KONIK OBERER MUHLEHALTER

18 WY28286128 ANELLO DI TENUTA D.54x2 K03028 GASKET O.R. JOINT O.R. DICHTUNG O.R.

19 WY28360032 ANELLO COLLEGAMENTO REGOLATORE K03022 CONTROLLER LINK RING BAGUE LIEN CONTROLEUR CONTROLLER LINKRING

20 WY28286150 VITE TESTA OVALE K06026 OVAL HEAD SCREW K06026 VIS TETE OVALE K06026 OVALER KOPF SCHRAUBE K06026

21 WY28286097 VITE BLOCCO REGOLAZIONE K01346 ADJUSTMENT BLOCK SCREW VIS DE REGLAGE DU BLOC BLOCK EINSTELLSCHRAUBE

22 WY28286095 MOLLA BLOCCO K01343 LOCK SPRING RESSORT DE VERROUILLAGE SPERRE FRUHLING

23 WY28326028 RONDELLA IN GOMMA K1352 MAC.ASC GUM WASHER RONDELLE GUMMISCHEIBE

24 WY28326036 GHIERA REGOLAZIONE MACINATURE IN ALLUMINIO GRINDING CONTROL RING EMBOUT REGULATION MOUTURE ZWINGE FUR MAHLENREGELUNG

25 WY28326029 RONDELLA ZINCATA M4 K1127 MAC.ASC WASHER RONDELLE SCHEIBE

26 WY28326026 VITE BOCCHETTONE USCITA CAFFE' K1194 MAC.A COFFEE DISPENSER SCREW VIS TUYAU DE SORTIE CAFE SCHRAUBE AUSLAUFROHR KAFFEE

27 WY28286096 PERNO BLOCCO REGOLAZIONE K01344 ADJUSTMENT LOCK PIN GOUPILLE DE VERROUILLAGE D'AJUSTEMENT ANPASSUNG SPERRE PIN

28 WY28360062 VITE BLOCCA TRAMOGGIA K03610 MAC.ASC GRINDSTONES BLOCKING SCREW VIS DE BLOCAGE TREMIE SCHRAUBE SCHLEUSBEHALTER

29 WY28286084 PERNO BLOCCO REG.MACINATURA SISTEMA PARALL GRINDING ADJUSTMENT BLOCK PARALLEL SYSTEME PARALLELE DE BLOC DE REGLAGE VERSTELLSYSTEM BLOCK PARALLELE SCHLEIF

30 WY28286140 DADO M4 DIN 985 K05434 NUT M4 ECROU M4 NUT M4

31 WY28326030 TUBO SILICONE 4x6 MNG1846 K1353 MAC.ASC SILICON TUBE TUBE DE SILICONE SILIKONSCHLAUCH

32 WY28286083 FRENO SISTEMA PARALLELO K01158 PARALLEL SYSTEM BRAKE FREIN DE SYSTEME PARALLELE PARALLELES SYSTEM-BREMSE

33 WY28126016 PERNO FERMA GHIERA MAC.CONICO K03061 MAC.A STOP RING PIN BAGUE DE BUTEE STOP RING POLIG

34 WY28360061 VITE BLOCCAGGIO TAMPONE TEFLON K01729 MAC. BLOCK SCREW VIS DE BLOCAGE ARRETIERSCHRAUBE

35 WY28286059 FLANGIA NYLON K00097 NYLON FLANGE BRIDE EN NYLON NYLON FLANSCH

36 WY28286132 CONDENSATORE 40uF K03174 CAPACITOR 40uF CONDENSATEUR 40uF KONDENSATOR 40uF

36 WY28286138 CONDESATORE 50uF K10 MASTER 100-110V K0382 CAPACITOR 50uF CONDENSATEUR 50uF KONDENSATOR 50uF

36 WY28286148 CONDENSATORE 8mF CAPACITOR 8mF CONDENSATEUR 8mF KONDENSATOR 8mF

37 WY28286063 RESISTENZA SCARICO K00411 HEATING ELEMENT RESISTANCE HEIZKORPER



WMCK-13

- 35 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

rev. 00
09/2015

6.8A KONIK

DETTAGLI 2

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
38 WY28286065 RELE' K00488 SWITCH INTERRUPTEUR SCHALTER

38 WY28286133 KLIXON PER K10 110V K03175 KLIXON KLIXON KLIXON

38 WY28286137 RELE' K10 MASTER 100V 50/60HZ K03824 SWITCH INTERRUPTEUR SCHALTER

39 WY28286058 DADO M3  K00092 NUT ECROU NUT

40 WY28286054 SUPPORTO LAMIERA K00025 SHEET SUPPORT SOUTIEN DE FEUILLE BLATT UNTERSTUTZUNG

41 WY28400014 VITE M3X17 K00084 MAC. ASC SCREW M3X17 K00084 GRIND.AS VIS M3X17 SCHRAUBE M3X17

42 WY28286141 CONDENSATORE 20mF p2 R100 110V K04574 CAPACITOR 20mF CONDENSATEUR 20mF KONDENSATOR 20mF



- 36 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

WMCK-14 rev. 00
09/2015

6.4 INSTANT

ASSIEMI

UK

CEE

AUST

SUIZA

CEE SGS

USA

sistema parallelo
parallel system

12
13
14
15
16
17

1

2

4

5

6

11

10

3

9

8

7
23

29

28

27

26

25
30

21

22

18
24

19

20



WMCK-14

- 37 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
1 WY28286028 VITE TT85T 5x12 IDT K01131 SCREW VIS SCHRAUBE

2 WY28286072 PROTEZIONE INFERIORE K00802 LOWER GUARD PROTECTION INFERIEURE UNTERER KETTENSCHUTZ

3 WY28286183 SCHEDA DI ALIMENTAZIONE 220-240V C0500 ELECTRIC POWER BOARD 220-240V C0500 CARTE ALIMENTATION 220-240V C0500 REGISTERKARTE STROMVERSORGUNG 220-240V 

3 WY28286184 SCHEDA DI ALIMENTAZIONE 100-110V C0505 ELECTRIC POWER BOARD 100-110V C0505 CARTE ALIMENTATION 100-110V C0505 REGISTERKARTE STROMVERSORGUNG 100-110V 

4 WY28286154 CABLAGGIO INTERRUTTORE K06526 SWITCH WIRING CABLAGE DE L'INTERRUPTEUR SCHALTER VERDRAHTUNG

5 WY28286034 VITE TT85Z DIN 7985 4x10 K02150 SCREW VIS SCHRAUBE

6 WY28286056 RONDELLA K00082 WASHER LAVER UNTERLEGSCHEIBE

7 WY28400010 VASCHETTA RECUPERO CAFFE'VERS.03 K803 MAC. COFFEE GROUNDS TROUGH RAMASSEUR CAFE SCHUSSEL ANSAMMLUNG KAFFEE

8 WY28286027 VITE TT85T 5x12 K01132 SCREW VIS SCHRAUBE

9 WY28360015 PIEDINO GOMMA BEARING FOOT PIED DE SUPPORT STUTZFUSS

10 WY28400040 INTERRUTTORE 8.0 K8 FRESH K00069D SWITCH INTERRUPTEUR SCHALTER

11 WY28286041 PRESSACAVO K01292 CABLE GRIP PRESSE CABLE PRESSEKABEL

12 WY28286048 CAVO ALIMENTAZIONE AUSTRALIA K00369 POWER CABLE AUSTRALIA CABLE D'ALIMENTATION AUSTRALIA STROMKABEL AUSTRALIA

13 WY28286186 CAVO ALIMENTAZIONE EUROPA 220V K00133 POWER CABLE EUROPE CABLAGE D'ALIMENTATION EUROPE STROMKABEL EUROPA

14 WY28286046 CAVO ALIMENTAZIONE EUROPA SGS 220V K01330 POWER CABLE EUROPE CABLAGE D'ALIMENTATION EUROPE STROMKABEL EUROPA

15 WY28286047 CAVO ALIMENTAZIONE SVIZZERA K00424 POWER CABLE SUISSE CABLE D'ALIMENTATION SUISSE STROMKABEL SCHWEIZ

16 WY28286049 CAVO ALIMENTAZIONE UK K00341 POWER CABLE UK CABLE D'ALIMENTATION UK STROMKABEL UK

17 WY28286050 CAVO ALIMENTAZIONE USA K00113 POWER CABLE USA CABLE D'ALIMENTATION USA STROMKABEL USA

18 WY28286175 VITE M4x10 DIN965M K00072 SCREW VIS SCHRAUBE

19 WY28286092 VITE DIN 7991 4x6 K01271N SCREW 4X6 VIS 4X6 SCHRAUBE 4X6

20 WY28286156 ESSENTIAL COVER ABS NERO K06600 BLACK COVER COUVERTURE NOIRE SCHWARZE ABDECKUNG

20 WY28286160 ESSENTIAL COVER (VERSIONE CON PRESSINO) K0 COVER (VERSION WITH TAMPER) COUVERTURE (VERSION AVEC PRESSE CAFE) ABDECKUNG (DRUCKVERSION)

20 WY28286162 COVER CON LED (ESSENTIAL LINE) K06630 COVER WITH LED COUVERTURE AVEC LED DECKEN MIT LED

21 WY28286182 SCIVOLO CAFFE'LUCIDATO COFFEE CHUTE POLISHED GOULOTTE DE CAFE' POLIERTE KAFFEE RUTSCHE

22 WY28326026 VITE BOCCHETTONE USCITA CAFFE' K1194 MAC.A COFFEE DISPENSER SCREW VIS TUYAU DE SORTIE CAFE SCHRAUBE AUSLAUFROHR KAFFEE

23 WY28286185 FORCHETTA O.D. C06550 FORK O.D. C06550 FOURCHE 0.D. C06550 GABEL O.D. C06550

24 WY28357001 TRAMOGGIA COMPLETA 1,4KG K01358 MAC.ASC HOPPER COMPLETE FOR K01358 TREMIE POUR MOULIN K01358 TRICHTER KAFFEEMUHLE K01358

25 WY28286161 VITE DISTANZIALE PRESSINO K06613 TAMPER SPACER SCREW PRESSE A VIS ENTRETOISE ABSTANDHALTER SCHRAUBE PRESSE

26 WY28286147 GRANO M3x8 DIN914 K05103 WHEAT M3x8 BLE M3x8 WEIZEN M3x8

27 WY28286157 SUPPORTO PRESSINO ESSENTIAL LINE K06604P TAMPER SUPPORT SUPPORT DE PRESSE CAFE SUPPORT DRUCKER KAFFEE

28 WY28286159 DISTANZIALE PRESSINO (ESSENTIAL) K06606 TAMPER SPACER ENTRETOISE ABSTANDSHALTER DRUCKER

29 WY28286086 TAMPONE PRESSINO ALLUMINIO D-53 K01164 ALUMINIUM TAMPER PAD GARNITURE PRESSE CAFE EN ALUMINIUM KAFFEEPRESSE

29 WY28360031 TAMPONE INFERIORE PRESSINO ALLUMINIO K0116 LOWER PRESSER PAD INFERIEURE PRESSEUR PAD BODENPOLSTERUNG DRUCKER

30 WY28286158 ZOCCOLO FISSAGGIO PRESSINO (ESSENTIAL) K06 TAMPER FIXING ELEMENT FIXATION DE PRESSE CAFE KAFFEE  MANIPULATIONSELEMENT BEFESTUI

rev. 00
09/2015

6.4 INSTANT

ASSIEMI



WMCK-15

- 38 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

4

3

2

5
7

6

8

9

10
11

12 13

1

rev. 00
09/2015

6.4 INSTANT

DETTAGLI 1



WMCK-15

- 39 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
1 WY28357001 TRAMOGGIA COMPLETA 1,4KG K01358 MAC.ASC HOPPER COMPLETE FOR K01358 TREMIE POUR MOULIN K01358 TRICHTER KAFFEEMUHLE K01358

2 WY28054002 COPERCHIO TRAMOGGIA    K00004 MAC.ASC COFFEE GRINDER HOPPER COUVERCLE TREMIE MOULIN TRICHTERDECKEL DER  KAFFEEMUEHLE

3 WY28357 TRAMOGGIA K00003 MAC.ASC HOPPER K003 A. TREMIE K003 A. TRICHTER KAFFEEMUHLE ASC.K003

4 WY28326016 SERRANDA TRAMOGGIA K827 MAC.ASC 03 CLOSSING SHEET TOLE DE FERMETURE SCHLUSSBLECH

5 WY28286156 ESSENTIAL COVER ABS NERO K06600 BLACK COVER COUVERTURE NOIRE SCHWARZE ABDECKUNG

5 WY28286160 ESSENTIAL COVER (VERSIONE CON PRESSINO) K0 COVER (VERSION WITH TAMPER) COUVERTURE (VERSION AVEC PRESSE CAFE) ABDECKUNG (DRUCKVERSION)

5 WY28286162 COVER CON LED (ESSENTIAL LINE) K06630 COVER WITH LED COUVERTURE AVEC LED DECKEN MIT LED

6 WY28286188 SET TASTIERA 2T 50Hz C06601O SET PAD 2T 50Hz JEU DE CLAVIER 2T 50Hz TASTATUR SET 2T 50Hz

6 WY28286189 SET TASTIERA 3T 50Hz C06601V SET PAD 3T 50Hz JEU DE CLAVIER 3T 50Hz TASTATUR SET 3T 50Hz

6 WY28286190 SET TASTIERA 2T 60Hz C06615O SET PAD 2T 60Hz JEU DE CLAVIER 2T 60Hz TASTATUR SET 2T 60Hz

6 WY28286191 SET TASTIERA 3T 60Hz C06615V SET PAD 3T 60Hz JEU DE CLAVIER 3T 60Hz TASTATUR SET 3T 60Hz

7 WY28286192 KIT LED C06625 KIT LED KIT LED KIT LED

8 WY28286155 VITE LATERALE SUPPORTO PORTAFILTRO K06558 SIDE SCREW FILTER HOLDER SUPPORT PRISE EN CHARGE DU SUPPORT FILTRE VIS SEITIGE SCHRAUBE FILTER HALTER UNTER

9 WY28286187 GUIDA PORTAFILTRO K06250 FILTERHOLDER GUIDE PORTE FILTRE GUIDE FILTERHALTER GUIDE

10 WY28400024 PULSANTE FRESH K06070C BUTTON BOUTON SCHALTFLACHE

11 WY28400044 ASTA SUPPORTO K06555 SUPPORT ROD TIGE DE SOUTIEN STANGE

12 WY28286163 VITE M5x25 DIN7991 K06758 SCREW M5x25 VIS M5x25 SCHRAUBE M5x25

13 WY28400045 FORCELLA MAC.FRESH K06550 FORK FOURCHE GABEL

rev. 00
09/2015

6.4 INSTANT

DETTAGLI 1



- 40 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

WMCK-16 rev. 00
09/2015

6.4 INSTANT

DETTAGLI 2

1
2
3

4

5

6

7

10 11

12

13

14

8
9

15

17

16

19
20

16 18

21

22

23
24

25
26

27
28
29

30

31
32

33

34

35

36
37

38

39

scheda/board

sistema parallelo/parallel system

sistema punto a punto/stepped system



- 41 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

WMCK-16 rev. 00
09/2015

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
1 WY28286145 VITE SPECIALE M3x8 DIN7985 K05064 SCREW M3X8 VIS M3X8 SCHRAUBE M3X8

2 WY28286146 SUPPORTO LAMINA USCITA CAFFE FRESH K05071 FOIL COFFEE OUTPUT SUPPORT SUPPORT DE SORTIE PAPIER CAFE UNTERSTUTZUNG DER FOLIE KAFFEE AUSGANG

3 WY28400022 LAMINA USCITA CAFFE FRESH K06065 FOIL COFFEE OUTLET SORTIE PAPIER CAFE FOLIE KAFFEE STECKDOSE

4 WY28159305 GUARNIZIONE OR K103 MAC.ASC O RING K103 JOINT OR K103 OR DICHTUNG K103

5 WY28001014 FERMO GASKET STOP JOINT STOP DICHTUNG STOP

6 WY28360009 PORTAMACINE 65D K01744 GRINDSTONES HOLDER PORTE-MEULES MUHLEHALTER

7 WY28286177 COPPIA MACINE D-64mm K06699C GRINDSTONES COUPLE TREMIE COUPLE MUHLE PAAR

8 WY28279002 RONDELLA D.10 K00127 MAC. ASC WASHER D.10 RONDELLE D.10 SCHEIBE D.10

9 WY28107001 DADO M10 OTTONE K00115 MAC. ASC SCREW M10 LATON ECROU M10 LAITON MUTTER M10 MESSING

10 WY28286166 VITE TORX TT65T M3x16 DIN965 K01021 SCREW VIS SCHRAUBE

11 WY28286105 SUPPORTO MACINA SUPERIORE K01799 HIGHER SUPPORT GRINDS SOUTIEN BROIE SUPERIEUR SUPPORT SCHLEIFT HOHER

12 WY28360080 PORTAMACINE SUP. K6 SILENZIO K01400 MAC.AS UPPER GRINDSTONES HOLDER PORTE MEULES SUPERIEURE OBERER MUHLEHALTER

13 WY28286075 RONDELLA K01020 WASHER RONDELLE SCHEIBE

14 WY28286104 ANELLO SUPPORTO MACINA SUPERIORE K01798 HIGHER SUPPORT GRINDS RING SUPPORT D'ANNEAU BROIE SUPERIEUR RINGTRAGER SCHLEIFT HOHER

15 WY28286082 REGOLATORE MACINATURA SILENZIO K01106 GRINDING CONTROL REGLAGE MOUTURE MAHLENREGELUNG

16 WY28326028 RONDELLA IN GOMMA K1352 MAC.ASC GUM WASHER RONDELLE GUMMISCHEIBE

17 WY28360062 VITE BLOCCA TRAMOGGIA K03610 MAC.ASC GRINDSTONES BLOCKING SCREW VIS DE BLOCAGE TREMIE SCHRAUBE SCHLEUSBEHALTER

18 WY28326036 GHIERA REGOLAZIONE MACINATURE IN ALLUMINIO GRINDING CONTROL RING EMBOUT REGULATION MOUTURE ZWINGE FUR MAHLENREGELUNG

19 WY28326029 RONDELLA ZINCATA M4 K1127 MAC.ASC WASHER RONDELLE SCHEIBE

20 WY28326026 VITE BOCCHETTONE USCITA CAFFE' K1194 MAC.A COFFEE DISPENSER SCREW VIS TUYAU DE SORTIE CAFE SCHRAUBE AUSLAUFROHR KAFFEE

21 WY28286060 FLANGIA MOTORE K00100 MOTOR FLANGE BRIDE MOTEUR MOTORFLANSCH

22 WY28286090 VITE DIN 912 5x20 K01255 SCREW 5X20 VIS 5X20 SCHRAUBE 5X20

23 WY28286076 PRIGIONIERO SILENCEBLOCK K01034 PRISONER SILENCEBLOCK PRISONNIER GEFANGENER

24 WY28360045 GOMMINO SUPP.MOTORE MAC SIL.K00967 MAC.ASC RUBBER MOTOR SUPPORT CAOUTCHOUC DE MONTAGE MOTEUR MOTOR MONTAGEGUMMI

25 WY28400014 VITE M3X17 K00084 MAC. ASC SCREW M3X17 K00084 GRIND.AS VIS M3X17 SCHRAUBE M3X17

26 WY28286143 VITE INOX SVASATA M4x8 K04959 S.STEEL SCREW VIS INOX SCHRAUBE INOX

27 WY28400020 CENTRALINA FRESH K06200 ELECTRONIC CONTROL UNIT UNITE DE CONTROLE ELECTRONIQUE ELEKTRONISCHES STEUERGERAT

28 WY28286138 CONDESATORE 50uF K10 MASTER 100-110V K0382 CAPACITOR 50uF CONDENSATEUR 50uF KONDENSATOR 50uF

28 WY28286142 CONDENSATORE 25mF p2 R120 110V-120V-230V-2 CAPACITOR 25mF CONDENSATEUR 25mF KONDENSATOR 25mF

29 WY28286059 FLANGIA NYLON K00097 NYLON FLANGE BRIDE EN NYLON NYLON FLANSCH

30 WY28286152 SUPPORTO SCHEDA ELETTRONICA K06230 PCB SUPPORT SUPPORT DE LA CARTE ELECTRONIQUE ELEKTRONISCHE KARTENUNTERSTUTZUNG

31 WY28360075 FRESH DISJOINER K06700 MAC.ASC FRESH DISJOINER FRESH DISJOINER FRESH DISJOINER

32 WY28286140 DADO M4 DIN 985 K05434 NUT M4 ECROU M4 NUT M4

33 WY28286151 SUPPORTO ESAGONALE K06211 HEXAGON SUPPORT SUPPORT HEXAGONAL SECHSKANT HALTER

34 WY28286165 SET SISTEMA PARALLELO C01141 SET PARALLEL SYSTEM C01141 ENSEMBLE DE SYSTEME PARALLELE PARALLELE SYSTEMSATZ

35 WY28360082 PERNO COMPLETO K01159C FULL PIN BROCHE COMPLETE VOLLE POLIG

36 WY28126018 VITE M4x30 DIN 912 ZN (NM) K01314 MAC.ASC SCREW VIS SCHRAUBE

37 WY28286100 FERMO IN NYLON K01399 NYLON STOPPING STOP NYLON STOP NYLON

38 WY28286094 ADATTATORE METALLICO K01340 METALLIC ADAPTER ADAPTEUR METAL METALL ADAPTER

39 WY28286096 PERNO BLOCCO REGOLAZIONE K01344 ADJUSTMENT LOCK PIN GOUPILLE DE VERROUILLAGE D'AJUSTEMENT ANPASSUNG SPERRE PIN

6.4 INSTANT

DETTAGLI 2



WMCK-17

- 42 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

rev. 00
09/2015

8

ASSIEMI

UK

CEE

AUST

SUIZA

CEE SGS

USA

sistema parallelo
parallel system

1

2

3

4

5

6
7

8

9

10

11
12

13

14

15

16

17

18

19
20

21
22

23

24

25

26
27
28
29
30
31



WMCK-17

- 43 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

rev. 00
09/2015

8.0 INSTANT

ASSIEMI

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
1 WY28286028 VITE TT85T 5x12 IDT K01131 SCREW VIS SCHRAUBE

2 WY28286072 PROTEZIONE INFERIORE K00802 LOWER GUARD PROTECTION INFERIEURE UNTERER KETTENSCHUTZ

3 WY28286183 SCHEDA DI ALIMENTAZIONE 220-240V C0500 ELECTRIC POWER BOARD 220-240V C0500 CARTE ALIMENTATION 220-240V C0500 REGISTERKARTE STROMVERSORGUNG 220-240V 

3 WY28286184 SCHEDA DI ALIMENTAZIONE 100-110V C0505 ELECTRIC POWER BOARD 100-110V C0505 CARTE ALIMENTATION 100-110V C0505 REGISTERKARTE STROMVERSORGUNG 100-110V

4 WY28286034 VITE TT85Z DIN 7985 4x10 K02150 SCREW VIS SCHRAUBE

5 WY28286056 RONDELLA K00082 WASHER LAVER UNTERLEGSCHEIBE

6 WY28286041 PRESSACAVO K01292 CABLE GRIP PRESSE CABLE PRESSEKABEL

7 WY28400040 INTERRUTTORE 8.0 K8 FRESH K00069D SWITCH INTERRUPTEUR SCHALTER

8 WY28286175 VITE M4x10 DIN965M K00072 SCREW VIS SCHRAUBE

9 WY28360076 PROFILO PIEDINO K03822 MAC.ASC FOOT PROFILE PROFIL DE JAMBE BEIN PROFIL

10 WY28360077 PIEDINO GOMMA K06323 MAC.ASC RUBBER FOOT PIEDS EN CAOUTCHOUC GUMMIFUSS

11 WY28360078 VITE PIEDINO K06324 MAC.ASC FOOT SCREW VIS DE PIED SCHRAUBE FUSS

12 WY28400010 VASCHETTA RECUPERO CAFFE'VERS.03 K803 MAC. COFFEE GROUNDS TROUGH RAMASSEUR CAFE SCHUSSEL ANSAMMLUNG KAFFEE

13 WY28286092 VITE DIN 7991 4x6 K01271N SCREW 4X6 VIS 4X6 SCHRAUBE 4X6

14 WY28286156 ESSENTIAL COVER ABS NERO K06600 BLACK COVER COUVERTURE NOIRE SCHWARZE ABDECKUNG

14 WY28286160 ESSENTIAL COVER (VERSIONE CON PRESSINO) K0 COVER (VERSION WITH TAMPER) COUVERTURE (VERSION AVEC PRESSE CAFE) ABDECKUNG (DRUCKVERSION)

14 WY28286162 COVER CON LED (ESSENTIAL LINE) K06630 COVER WITH LED COUVERTURE AVEC LED DECKEN MIT LED

15 WY28286182 SCIVOLO CAFFE'LUCIDATO COFFEE CHUTE POLISHED GOULOTTE DE CAFE' POLIERTE KAFFEE RUTSCHE

16 WY28326026 VITE BOCCHETTONE USCITA CAFFE' K1194 MAC.A COFFEE DISPENSER SCREW VIS TUYAU DE SORTIE CAFE SCHRAUBE AUSLAUFROHR KAFFEE

17 WY28286185 FORCHETTA O.D. C06550 FORK O.D. C06550 FOURCHE 0.D. C06550 GABEL O.D. C06550

18 WY28357001 TRAMOGGIA COMPLETA 1,4KG K01358 MAC.ASC HOPPER COMPLETE FOR K01358 TREMIE POUR MOULIN K01358 TRICHTER KAFFEEMUHLE K01358

19 WY28286158 ZOCCOLO FISSAGGIO PRESSINO (ESSENTIAL) K06 TAMPER FIXING ELEMENT FIXATION DE PRESSE CAFE KAFFEE  MANIPULATIONSELEMENT BEFESTUI

20 WY28286161 VITE DISTANZIALE PRESSINO K06613 TAMPER SPACER SCREW PRESSE A VIS ENTRETOISE ABSTANDHALTER SCHRAUBE PRESSE

21 WY28286147 GRANO M3x8 DIN914 K05103 WHEAT M3x8 BLE M3x8 WEIZEN M3x8

22 WY28286157 SUPPORTO PRESSINO ESSENTIAL LINE K06604P TAMPER SUPPORT SUPPORT DE PRESSE CAFE SUPPORT DRUCKER KAFFEE

23 WY28286159 DISTANZIALE PRESSINO (ESSENTIAL) K06606 TAMPER SPACER ENTRETOISE ABSTANDSHALTER DRUCKER

24 WY28286086 TAMPONE PRESSINO ALLUMINIO D-53 K01164 ALUMINIUM TAMPER PAD GARNITURE PRESSE CAFE EN ALUMINIUM KAFFEEPRESSE

24 WY28360031 TAMPONE INFERIORE PRESSINO ALLUMINIO K0116 LOWER PRESSER PAD INFERIEURE PRESSEUR PAD BODENPOLSTERUNG DRUCKER

25 WY28286154 CABLAGGIO INTERRUTTORE K06526 SWITCH WIRING CABLAGE DE L'INTERRUPTEUR SCHALTER VERDRAHTUNG

26 WY28286048 CAVO ALIMENTAZIONE AUSTRALIA K00369 POWER CABLE AUSTRALIA CABLE D'ALIMENTATION AUSTRALIA STROMKABEL AUSTRALIA

27 WY28286186 CAVO ALIMENTAZIONE EUROPA 220V K00133 POWER CABLE EUROPE CABLAGE D'ALIMENTATION EUROPE STROMKABEL EUROPA

28 WY28286046 CAVO ALIMENTAZIONE EUROPA SGS 220V K01330 POWER CABLE EUROPE CABLAGE D'ALIMENTATION EUROPE STROMKABEL EUROPA

29 WY28286047 CAVO ALIMENTAZIONE SVIZZERA K00424 POWER CABLE SUISSE CABLE D'ALIMENTATION SUISSE STROMKABEL SCHWEIZ

30 WY28286049 CAVO ALIMENTAZIONE UK K00341 POWER CABLE UK CABLE D'ALIMENTATION UK STROMKABEL UK

31 WY28286050 CAVO ALIMENTAZIONE USA K00113 POWER CABLE USA CABLE D'ALIMENTATION USA STROMKABEL USA



WMCK-18

- 44 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

4

3

2

5
7

6

8

9

10
11

12 13

1

rev. 00
09/2015

8.0 INSTANT

DETTAGLI 1



WMCK-18

- 45 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

rev. 00
09/2015

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
1 WY28357001 TRAMOGGIA COMPLETA 1,4KG K01358 MAC.ASC HOPPER COMPLETE FOR K01358 TREMIE POUR MOULIN K01358 TRICHTER KAFFEEMUHLE K01358

2 WY28054002 COPERCHIO TRAMOGGIA    K00004 MAC.ASC COFFEE GRINDER HOPPER COUVERCLE TREMIE MOULIN TRICHTERDECKEL DER  KAFFEEMUEHLE

3 WY28357 TRAMOGGIA K00003 MAC.ASC HOPPER K003 A. TREMIE K003 A. TRICHTER KAFFEEMUHLE ASC.K003

4 WY28326016 SERRANDA TRAMOGGIA K827 MAC.ASC 03 CLOSSING SHEET TOLE DE FERMETURE SCHLUSSBLECH

5 WY28286156 ESSENTIAL COVER ABS NERO K06600 BLACK COVER COUVERTURE NOIRE SCHWARZE ABDECKUNG

5 WY28286160 ESSENTIAL COVER (VERSIONE CON PRESSINO) K0 COVER (VERSION WITH TAMPER) COUVERTURE (VERSION AVEC PRESSE CAFE) ABDECKUNG (DRUCKVERSION)

5 WY28286162 COVER CON LED (ESSENTIAL LINE) K06630 COVER WITH LED COUVERTURE AVEC LED DECKEN MIT LED

6 WY28286188 SET TASTIERA 2T 50Hz C06601O SET PAD 2T 50Hz JEU DE CLAVIER 2T 50Hz TASTATUR SET 2T 50Hz

6 WY28286189 SET TASTIERA 3T 50Hz C06601V SET PAD 3T 50Hz JEU DE CLAVIER 3T 50Hz TASTATUR SET 3T 50Hz

6 WY28286190 SET TASTIERA 2T 60Hz C06615O SET PAD 2T 60Hz JEU DE CLAVIER 2T 60Hz TASTATUR SET 2T 60Hz

6 WY28286191 SET TASTIERA 3T 60Hz C06615V SET PAD 3T 60Hz JEU DE CLAVIER 3T 60Hz TASTATUR SET 3T 60Hz

7 WY28286192 KIT LED C06625 KIT LED KIT LED KIT LED

8 WY28286155 VITE LATERALE SUPPORTO PORTAFILTRO K06558 SIDE SCREW FILTER HOLDER SUPPORT PRISE EN CHARGE DU SUPPORT FILTRE VIS SEITIGE SCHRAUBE FILTER HALTER UNTER

9 WY28286187 GUIDA PORTAFILTRO K06250 FILTERHOLDER GUIDE PORTE FILTRE GUIDE FILTERHALTER GUIDE

10 WY28400024 PULSANTE FRESH K06070C BUTTON BOUTON SCHALTFLACHE

11 WY28400044 ASTA SUPPORTO K06555 SUPPORT ROD TIGE DE SOUTIEN STANGE

12 WY28286163 VITE M5x25 DIN7991 K06758 SCREW M5x25 VIS M5x25 SCHRAUBE M5x25

13 WY28400045 FORCELLA MAC.FRESH K06550 FORK FOURCHE GABEL

8.0 INSTANT

DETTAGLI 1



- 46 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

WMCK-19 rev. 00
09/2015

8.0 INSTANT

DETTAGLI 2

1
2
3

4

5

6

7

10 11

12

13

14

8
9

15

17

16

19
20

16 18

21

22

23
24

25
26

27
28
29

30

31
32

33

34

35

36
37

38

39

scheda/board

sistema parallelo/parallel system

sistema punto a punto/stepped system



WMCK-19

- 47 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

rev. 00
09/2015

8.0 INSTANT

DETTAGLI 2

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
1 WY28286145 VITE SPECIALE M3x8 DIN7985 K05064 SCREW M3X8 VIS M3X8 SCHRAUBE M3X8

2 WY28286146 SUPPORTO LAMINA USCITA CAFFE FRESH K05071 FOIL COFFEE OUTPUT SUPPORT SUPPORT DE SORTIE PAPIER CAFE UNTERSTUTZUNG DER FOLIE KAFFEE AUSGANG

3 WY28400022 LAMINA USCITA CAFFE FRESH K06065 FOIL COFFEE OUTLET SORTIE PAPIER CAFE FOLIE KAFFEE STECKDOSE

4 WY28159305 GUARNIZIONE OR K103 MAC.ASC O RING K103 JOINT OR K103 OR DICHTUNG K103

5 WY28001014 FERMO GASKET STOP JOINT STOP DICHTUNG STOP

6 WY28360009 PORTAMACINE 65D K01744 GRINDSTONES HOLDER PORTE-MEULES MUHLEHALTER

7 WY28286177 COPPIA MACINE D-64mm K06699C GRINDSTONES COUPLE TREMIE COUPLE MUHLE PAAR

8 WY28279002 RONDELLA D.10 K00127 MAC. ASC WASHER D.10 RONDELLE D.10 SCHEIBE D.10

9 WY28107001 DADO M10 OTTONE K00115 MAC. ASC SCREW M10 LATON ECROU M10 LAITON MUTTER M10 MESSING

10 WY28286166 VITE TORX TT65T M3x16 DIN965 K01021 SCREW VIS SCHRAUBE

11 WY28286105 SUPPORTO MACINA SUPERIORE K01799 HIGHER SUPPORT GRINDS SOUTIEN BROIE SUPERIEUR SUPPORT SCHLEIFT HOHER

12 WY28360080 PORTAMACINE SUP. K6 SILENZIO K01400 MAC.AS UPPER GRINDSTONES HOLDER PORTE MEULES SUPERIEURE OBERER MUHLEHALTER

13 WY28286075 RONDELLA K01020 WASHER RONDELLE SCHEIBE

14 WY28286104 ANELLO SUPPORTO MACINA SUPERIORE K01798 HIGHER SUPPORT GRINDS RING SUPPORT D'ANNEAU BROIE SUPERIEUR RINGTRAGER SCHLEIFT HOHER

15 WY28286082 REGOLATORE MACINATURA SILENZIO K01106 GRINDING CONTROL REGLAGE MOUTURE MAHLENREGELUNG

16 WY28326028 RONDELLA IN GOMMA K1352 MAC.ASC GUM WASHER RONDELLE GUMMISCHEIBE

17 WY28360062 VITE BLOCCA TRAMOGGIA K03610 MAC.ASC GRINDSTONES BLOCKING SCREW VIS DE BLOCAGE TREMIE SCHRAUBE SCHLEUSBEHALTER

18 WY28326036 GHIERA REGOLAZIONE MACINATURE IN ALLUMINIO GRINDING CONTROL RING EMBOUT REGULATION MOUTURE ZWINGE FUR MAHLENREGELUNG

19 WY28326029 RONDELLA ZINCATA M4 K1127 MAC.ASC WASHER RONDELLE SCHEIBE

20 WY28326026 VITE BOCCHETTONE USCITA CAFFE' K1194 MAC.A COFFEE DISPENSER SCREW VIS TUYAU DE SORTIE CAFE SCHRAUBE AUSLAUFROHR KAFFEE

21 WY28286060 FLANGIA MOTORE K00100 MOTOR FLANGE BRIDE MOTEUR MOTORFLANSCH

22 WY28286090 VITE DIN 912 5x20 K01255 SCREW 5X20 VIS 5X20 SCHRAUBE 5X20

23 WY28286076 PRIGIONIERO SILENCEBLOCK K01034 PRISONER SILENCEBLOCK PRISONNIER GEFANGENER

24 WY28360045 GOMMINO SUPP.MOTORE MAC SIL.K00967 MAC.ASC RUBBER MOTOR SUPPORT CAOUTCHOUC DE MONTAGE MOTEUR MOTOR MONTAGEGUMMI

25 WY28400014 VITE M3X17 K00084 MAC. ASC SCREW M3X17 K00084 GRIND.AS VIS M3X17 SCHRAUBE M3X17

26 WY28286143 VITE INOX SVASATA M4x8 K04959 S.STEEL SCREW VIS INOX SCHRAUBE INOX

27 WY28400020 CENTRALINA FRESH K06200 ELECTRONIC CONTROL UNIT UNITE DE CONTROLE ELECTRONIQUE ELEKTRONISCHES STEUERGERAT

28 WY28286138 CONDESATORE 50uF K10 MASTER 100-110V K0382 CAPACITOR 50uF CONDENSATEUR 50uF KONDENSATOR 50uF

28 WY28286142 CONDENSATORE 25mF p2 R120 110V-120V-230V-2 CAPACITOR 25mF CONDENSATEUR 25mF KONDENSATOR 25mF

29 WY28286059 FLANGIA NYLON K00097 NYLON FLANGE BRIDE EN NYLON NYLON FLANSCH

30 WY28286152 SUPPORTO SCHEDA ELETTRONICA K06230 PCB SUPPORT SUPPORT DE LA CARTE ELECTRONIQUE ELEKTRONISCHE KARTENUNTERSTUTZUNG

31 WY28360075 FRESH DISJOINER K06700 MAC.ASC FRESH DISJOINER FRESH DISJOINER FRESH DISJOINER

32 WY28286140 DADO M4 DIN 985 K05434 NUT M4 ECROU M4 NUT M4

33 WY28286151 SUPPORTO ESAGONALE K06211 HEXAGON SUPPORT SUPPORT HEXAGONAL SECHSKANT HALTER

34 WY28286165 SET SISTEMA PARALLELO C01141 SET PARALLEL SYSTEM C01141 ENSEMBLE DE SYSTEME PARALLELE PARALLELE SYSTEMSATZ

35 WY28360082 PERNO COMPLETO K01159C FULL PIN BROCHE COMPLETE VOLLE POLIG

36 WY28126018 VITE M4x30 DIN 912 ZN (NM) K01314 MAC.ASC SCREW VIS SCHRAUBE

37 WY28286100 FERMO IN NYLON K01399 NYLON STOPPING STOP NYLON STOP NYLON

38 WY28286094 ADATTATORE METALLICO K01340 METALLIC ADAPTER ADAPTEUR METAL METALL ADAPTER

39 WY28286096 PERNO BLOCCO REGOLAZIONE K01344 ADJUSTMENT LOCK PIN GOUPILLE DE VERROUILLAGE D'AJUSTEMENT ANPASSUNG SPERRE PIN



- 48 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

WMCK-20 rev. 00
09/2015

UK

CEE

AUST

SUIZA

CEE SGS

USA

sistema parallelo
parallel system

1

2

3

4

5

6

7

8

9 10

11

12
13

14

15

16
17

18

19

20

21

22

23

25

26
27

28

29

24
32
33
34
35
36
37

30

31

6.8 KONIK INSTANT

ASSIEMI



WMCK-20

- 49 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
1 WY28286027 VITE TT85T 5x12 K01132 SCREW VIS SCHRAUBE

2 WY28286072 PROTEZIONE INFERIORE K00802 LOWER GUARD PROTECTION INFERIEURE UNTERER KETTENSCHUTZ

3 WY28286184 SCHEDA DI ALIMENTAZIONE 100-110V C0505 ELECTRIC POWER BOARD 100-110V C0505 CARTE ALIMENTATION 100-110V C0505 REGISTERKARTE STROMVERSORGUNG 100-110V

3 WY28286185 FORCHETTA O.D. C06550 FORK O.D. C06550 FOURCHE 0.D. C06550 GABEL O.D. C06550

4 WY28286034 VITE TT85Z DIN 7985 4x10 K02150 SCREW VIS SCHRAUBE

5 WY28286056 RONDELLA K00082 WASHER LAVER UNTERLEGSCHEIBE

6 WY28360078 VITE PIEDINO K06324 MAC.ASC FOOT SCREW VIS DE PIED SCHRAUBE FUSS

7 WY28360077 PIEDINO GOMMA K06323 MAC.ASC RUBBER FOOT PIEDS EN CAOUTCHOUC GUMMIFUSS

8 WY28360076 PROFILO PIEDINO K03822 MAC.ASC FOOT PROFILE PROFIL DE JAMBE BEIN PROFIL

9 WY28286041 PRESSACAVO K01292 CABLE GRIP PRESSE CABLE PRESSEKABEL

10 WY28286068 VITE SILENBLOCK K00672 SCREW SILENBLOCK VIS SILENBLOCK SCHRAUBE SILENBLOCK

11 WY28400010 VASCHETTA RECUPERO CAFFE'VERS.03 K803 MAC. COFFEE GROUNDS TROUGH RAMASSEUR CAFE SCHUSSEL ANSAMMLUNG KAFFEE

12 WY28286032 VITE DIN 912 M4x10 TT12 ZINCATA K01095 SCREW VIS SCHRAUBE

13 WY28400036 VENTOLA FRESH K04525 FAN VENTIL VENTIL

14 WY28286187 GUIDA PORTAFILTRO K06250 FILTERHOLDER GUIDE PORTE FILTRE GUIDE FILTERHALTER GUIDE

15 WY28326026 VITE BOCCHETTONE USCITA CAFFE' K1194 MAC.A COFFEE DISPENSER SCREW VIS TUYAU DE SORTIE CAFE SCHRAUBE AUSLAUFROHR KAFFEE

16 WY28286182 SCIVOLO CAFFE'LUCIDATO COFFEE CHUTE POLISHED GOULOTTE DE CAFE' POLIERTE KAFFEE RUTSCHE

17 WY28400039 INTERRUTTORE 6.8 K10 FRESH K06320 SWITCH INTERRUPTEUR SCHALTER

18 WY28286153 ETICH.INTERRUTTORE 3P. FRESH K06321 SWITCH STICKER ETIQUETTE DE COMMUTATEUR DIE SCHALTERBEZEICHNUNG

19 WY28286144 VITE CL8IT 3.1x8 K05063 SCREW VIS SCHRAUBE

20 WY28286091 MANOPOLA INTERRUTTORE K01265 SWITCH KNOB BOUTON DE L'INTERRUPTEUR SCHALTER REGLER

21 WY28286156 ESSENTIAL COVER ABS NERO K06600 BLACK COVER COUVERTURE NOIRE SCHWARZE ABDECKUNG

21 WY28286160 ESSENTIAL COVER (VERSIONE CON PRESSINO) K0 COVER (VERSION WITH TAMPER) COUVERTURE (VERSION AVEC PRESSE CAFE) ABDECKUNG (DRUCKVERSION)

21 WY28286162 COVER CON LED (ESSENTIAL LINE) K06630 COVER WITH LED COUVERTURE AVEC LED DECKEN MIT LED

22 WY28286092 VITE DIN 7991 4x6 K01271N SCREW 4X6 VIS 4X6 SCHRAUBE 4X6

23 WY28357001 TRAMOGGIA COMPLETA 1,4KG K01358 MAC.ASC HOPPER COMPLETE FOR K01358 TREMIE POUR MOULIN K01358 TRICHTER KAFFEEMUHLE K01358

24 WY28286158 ZOCCOLO FISSAGGIO PRESSINO (ESSENTIAL) K06 TAMPER FIXING ELEMENT FIXATION DE PRESSE CAFE KAFFEE  MANIPULATIONSELEMENT BEFESTUI

25 WY28286161 VITE DISTANZIALE PRESSINO K06613 TAMPER SPACER SCREW PRESSE A VIS ENTRETOISE ABSTANDHALTER SCHRAUBE PRESSE

26 WY28286147 GRANO M3x8 DIN914 K05103 WHEAT M3x8 BLE M3x8 WEIZEN M3x8

27 WY28286157 SUPPORTO PRESSINO ESSENTIAL LINE K06604P TAMPER SUPPORT SUPPORT DE PRESSE CAFE SUPPORT DRUCKER KAFFEE

28 WY28286159 DISTANZIALE PRESSINO (ESSENTIAL) K06606 TAMPER SPACER ENTRETOISE ABSTANDSHALTER DRUCKER

29 WY28286086 TAMPONE PRESSINO ALLUMINIO D-53 K01164 ALUMINIUM TAMPER PAD GARNITURE PRESSE CAFE EN ALUMINIUM KAFFEEPRESSE

29 WY28360031 TAMPONE INFERIORE PRESSINO ALLUMINIO K0116 LOWER PRESSER PAD INFERIEURE PRESSEUR PAD BODENPOLSTERUNG DRUCKER

30 WY28286154 CABLAGGIO INTERRUTTORE K06526 SWITCH WIRING CABLAGE DE L'INTERRUPTEUR SCHALTER VERDRAHTUNG

31 WY28286175 VITE M4x10 DIN965M K00072 SCREW VIS SCHRAUBE

32 WY28286048 CAVO ALIMENTAZIONE AUSTRALIA K00369 POWER CABLE AUSTRALIA CABLE D'ALIMENTATION AUSTRALIA STROMKABEL AUSTRALIA

33 WY28286186 CAVO ALIMENTAZIONE EUROPA 220V K00133 POWER CABLE EUROPE CABLAGE D'ALIMENTATION EUROPE STROMKABEL EUROPA

34 WY28286046 CAVO ALIMENTAZIONE EUROPA SGS 220V K01330 POWER CABLE EUROPE CABLAGE D'ALIMENTATION EUROPE STROMKABEL EUROPA

35 WY28286047 CAVO ALIMENTAZIONE SVIZZERA K00424 POWER CABLE SUISSE CABLE D'ALIMENTATION SUISSE STROMKABEL SCHWEIZ

36 WY28286049 CAVO ALIMENTAZIONE UK K00341 POWER CABLE UK CABLE D'ALIMENTATION UK STROMKABEL UK

37 WY28286050 CAVO ALIMENTAZIONE USA K00113 POWER CABLE USA CABLE D'ALIMENTATION USA STROMKABEL USA

rev. 00
09/2015

6.8 KONIK INSTANT

ASSIEMI



- 50 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

WMCK-21 rev. 00
09/2015

4

3

2

5
7

6

8

9

10
11

12 13

1

6.8 KONIK INSTANT

DETTAGLI 1



- 51 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

WMCK-21 rev. 00
09/2015

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
1 WY28357001 TRAMOGGIA COMPLETA 1,4KG K01358 MAC.ASC HOPPER COMPLETE FOR K01358 TREMIE POUR MOULIN K01358 TRICHTER KAFFEEMUHLE K01358

2 WY28054002 COPERCHIO TRAMOGGIA    K00004 MAC.ASC COFFEE GRINDER HOPPER COUVERCLE TREMIE MOULIN TRICHTERDECKEL DER  KAFFEEMUEHLE

3 WY28357 TRAMOGGIA K00003 MAC.ASC HOPPER K003 A. TREMIE K003 A. TRICHTER KAFFEEMUHLE ASC.K003

4 WY28326016 SERRANDA TRAMOGGIA K827 MAC.ASC 03 CLOSSING SHEET TOLE DE FERMETURE SCHLUSSBLECH

5 WY28286156 ESSENTIAL COVER ABS NERO K06600 BLACK COVER COUVERTURE NOIRE SCHWARZE ABDECKUNG

5 WY28286160 ESSENTIAL COVER (VERSIONE CON PRESSINO) K0 COVER (VERSION WITH TAMPER) COUVERTURE (VERSION AVEC PRESSE CAFE) ABDECKUNG (DRUCKVERSION)

5 WY28286162 COVER CON LED (ESSENTIAL LINE) K06630 COVER WITH LED COUVERTURE AVEC LED DECKEN MIT LED

6 WY28286188 SET TASTIERA 2T 50Hz C06601O SET PAD 2T 50Hz JEU DE CLAVIER 2T 50Hz TASTATUR SET 2T 50Hz

6 WY28286189 SET TASTIERA 3T 50Hz C06601V SET PAD 3T 50Hz JEU DE CLAVIER 3T 50Hz TASTATUR SET 3T 50Hz

6 WY28286190 SET TASTIERA 2T 60Hz C06615O SET PAD 2T 60Hz JEU DE CLAVIER 2T 60Hz TASTATUR SET 2T 60Hz

6 WY28286191 SET TASTIERA 3T 60Hz C06615V SET PAD 3T 60Hz JEU DE CLAVIER 3T 60Hz TASTATUR SET 3T 60Hz

7 WY28286192 KIT LED C06625 KIT LED KIT LED KIT LED

8 WY28286155 VITE LATERALE SUPPORTO PORTAFILTRO K06558 SIDE SCREW FILTER HOLDER SUPPORT PRISE EN CHARGE DU SUPPORT FILTRE VIS SEITIGE SCHRAUBE FILTER HALTER UNTER

9 WY28286187 GUIDA PORTAFILTRO K06250 FILTERHOLDER GUIDE PORTE FILTRE GUIDE FILTERHALTER GUIDE

10 WY28400024 PULSANTE FRESH K06070C BUTTON BOUTON SCHALTFLACHE

11 WY28400044 ASTA SUPPORTO K06555 SUPPORT ROD TIGE DE SOUTIEN STANGE

12 WY28286163 VITE M5x25 DIN7991 K06758 SCREW M5x25 VIS M5x25 SCHRAUBE M5x25

13 WY28400045 FORCELLA MAC.FRESH K06550 FORK FOURCHE GABEL

6.8 KONIK INSTANT

DETTAGLI 1



WMCK-22

- 52 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

rev. 00
09/2015

6.8 KONIK INSTANT

DETTAGLI 2

scheda/board

sistema parallelo/parallel system

sistema punto a punto/stepped system

1

2

3

4

5

6

7

8

9

10

11

13

12

14
1516

17

17
18
19

20

21

22

23

24

25
26

27

28
29

30

31313131

32323232

33333333

34343434
35353535

36363636



WMCK-22

- 53 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

rev. 00
09/2015

6.8 KONIK INSTANT

DETTAGLI 2

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
1 WY28286131 MOTORE PER K10 220/240V K03172 MOTOR 220-240V MOTOR 220-240V MOTOR 220-240V

1 WY28286134 MOTORE PER K10 110V K03176 MOTOR 110V MOTOR 110V MOTOR 110V

2 WY28165012 RIDUTTORE K03071 REDUCER REDUCTEUR REDUKTOR

3 WY28165013 INGRANAGGIO MOTORIDUTTORE K03057 MOTOR REDUCER MOTO REDUCTEUR GETRIEBEMOTOR

4 WY28159305 GUARNIZIONE OR K103 MAC.ASC O RING K103 JOINT OR K103 OR DICHTUNG K103

5 WY28286055 VITE 6x16 K00065 SCREW 6X16 VIS 6X16 SCHRAUBE 6X16

6 WY28286124 PORTAMACINE CONICA INFERIORE K03013 CONIC LOWER GRINDSTONES HOLDER PORTE MEULES INFERIEURES CONIQUES KONISCHE OBERER MUHLEHALTER

7 WY28360064 ELICA K06120 MAC.ASC PROPELLER HELICE PROPELLER

8 WY28360063 VITE LAMINA INF. K03060 MAC.ASC SCREW VIS SCHRAUBE

9 WY28217018 MACINE CONICHE K10 COPPIA D.68mm K03078 MA CONIC GRINDSTONES MEULES CONIQUES KONIK MUHLE

10 WY28286126 PORTAMACINA CONICA FISSA SUPERIORE K03026 CONIC UPPER GRINDSTONES HOLDER PORTE MEULES SUPERIEURE CONIQUES KONIK OBERER MUHLEHALTER

11 WY28286135 PORTAMACINE SUPERIORE K8 E K10 K03400 UPPER GRINDSTONES HOLDER PORTE MEULES SUPERIEURE OBERER MUHLEHALTER

11 WY28286136 PORTAMACINE SUPERIORE K8 E K10 K03400 BRASS UPPER GRINDSTONES HOLDER PORTE MEULES SUPERIEURE EN LAITON OBERER MAHLEHALTER MESSING

12 WY28286125 RONDELLA ELASTICA AR M-85 DIN 1005 K03025 ELASTIC WASHER RONDELLE A RESSORT FEDERSCHEIBE

13 WY28286127 FERMO PORTAMACINA CONICA FISSA SUPERIORE K STOPPING UPPER CONIC GRINDSTONES HOLDER BLOC DE PORTE MEULES SUPERIEURES STOP KONIK OBERER MUHLEHALTER

14 WY28286128 ANELLO DI TENUTA D.54x2 K03028 GASKET O.R. JOINT O.R. DICHTUNG O.R.

15 WY28360032 ANELLO COLLEGAMENTO REGOLATORE K03022 CONTROLLER LINK RING BAGUE LIEN CONTROLEUR CONTROLLER LINKRING

16 WY28286150 VITE TESTA OVALE K06026 OVAL HEAD SCREW K06026 VIS TETE OVALE K06026 OVALER KOPF SCHRAUBE K06026

17 WY28326028 RONDELLA IN GOMMA K1352 MAC.ASC GUM WASHER RONDELLE GUMMISCHEIBE

18 WY28326029 RONDELLA ZINCATA M4 K1127 MAC.ASC WASHER RONDELLE SCHEIBE

19 WY28326026 VITE BOCCHETTONE USCITA CAFFE' K1194 MAC.A COFFEE DISPENSER SCREW VIS TUYAU DE SORTIE CAFE SCHRAUBE AUSLAUFROHR KAFFEE

20 WY28326036 GHIERA REGOLAZIONE MACINATURE IN ALLUMINIO GRINDING CONTROL RING EMBOUT REGULATION MOUTURE ZWINGE FUR MAHLENREGELUNG

21 WY28360062 VITE BLOCCA TRAMOGGIA K03610 MAC.ASC GRINDSTONES BLOCKING SCREW VIS DE BLOCAGE TREMIE SCHRAUBE SCHLEUSBEHALTER

22 WY28400014 VITE M3X17 K00084 MAC. ASC SCREW M3X17 K00084 GRIND.AS VIS M3X17 SCHRAUBE M3X17

23 WY28286143 VITE INOX SVASATA M4x8 K04959 S.STEEL SCREW VIS INOX SCHRAUBE INOX

24 WY28400020 CENTRALINA FRESH K06200 ELECTRONIC CONTROL UNIT UNITE DE CONTROLE ELECTRONIQUE ELEKTRONISCHES STEUERGERAT

25 WY28286059 FLANGIA NYLON K00097 NYLON FLANGE BRIDE EN NYLON NYLON FLANSCH

26 WY28286132 CONDENSATORE 40uF K03174 CAPACITOR 40uF CONDENSATEUR 40uF KONDENSATOR 40uF

26 WY28286138 CONDESATORE 50uF K10 MASTER 100-110V K0382 CAPACITOR 50uF CONDENSATEUR 50uF KONDENSATOR 50uF

26 WY28286148 CONDENSATORE 8mF CAPACITOR 8mF CONDENSATEUR 8mF KONDENSATOR 8mF

27 WY28286152 SUPPORTO SCHEDA ELETTRONICA K06230 PCB SUPPORT SUPPORT DE LA CARTE ELECTRONIQUE ELEKTRONISCHE KARTENUNTERSTUTZUNG

28 WY28286065 RELE' K00488 SWITCH INTERRUPTEUR SCHALTER

28 WY28286133 KLIXON PER K10 110V K03175 KLIXON KLIXON KLIXON

28 WY28286137 RELE' K10 MASTER 100V 50/60HZ K03824 SWITCH INTERRUPTEUR SCHALTER

28 WY28360074 FRESH DISJOINER K00496 MAC.ASC FRESH DISJOINER FRESH DISJOINER FRESH DISJOINER

29 WY28286140 DADO M4 DIN 985 K05434 NUT M4 ECROU M4 NUT M4

30 WY28286151 SUPPORTO ESAGONALE K06211 HEXAGON SUPPORT SUPPORT HEXAGONAL SECHSKANT HALTER

31 WY28286141 CONDENSATORE 20mF p2 R100 110V K04574 CAPACITOR 20mF CONDENSATEUR 20mF KONDENSATOR 20mF

32 WY28286165 SET SISTEMA PARALLELO C01141 SET PARALLEL SYSTEM C01141 ENSEMBLE DE SYSTEME PARALLELE PARALLELE SYSTEMSATZ

33 WY28286168 KIT BLOCCO REGOLAZIONE PARALLELA MACINATUR KIT BLOCK REGULATION PARALLEL GRINDING ECLUSE DE REGLAGE MOUTURE PARALLELE PARALLELE SCHLEIFEN ANPASSUNG SPERRE



WMCK-22

- 54 -MACINADOSATORE - COFFEE GRINDER
MOULIN A CAFÉ - KAFFEEMÜHLE

rev. 00
09/2015

6.8 KONIK INSTANT

DETTAGLI 2

Pos Cod. Denominazione - IT - Denomination - GB - Denomination - FR - Denomination - DE -
34 WY28126018 VITE M4x30 DIN 912 ZN (NM) K01314 MAC.ASC SCREW VIS SCHRAUBE

35 WY28286100 FERMO IN NYLON K01399 NYLON STOPPING STOP NYLON STOP NYLON

36 WY28286094 ADATTATORE METALLICO K01340 METALLIC ADAPTER ADAPTEUR METAL METALL ADAPTER


	Untitled



